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Yellow Industries AEIRIZEFPARUTREK. EFRFEEELEYellow IndustriesBIr= RSt IAVE KA
fr. EESHLEENESENTIESR, It ATREREIEIRR.

BEEEENTER AT Yellow IndustriesZ#ERA?

Yellow Industries is losing customers. The main complaint of their customers is that Yellow
Industries just does not make the product that they want. The board wants to start working
in a more Agile manner to make the company financially healthy again.

How would working in a more Agile manner benefit Yellow Industries most?

A) BBEBTARTONE—NERFRIIAE, NMMEIENEN~E.
It would help create a more friendly environment for the personnel which increases valuable
output.

B) BEMTILEFAFARIERSBEREAECHIFEK.
It would help make the customers more responsible for expressing what they want before
development.

C) CEBTHRREATRNAZRA, FEASER—MERAIIELT.
It would help reduce the personnel costs of the company because Agile is an efficient way of
working.

D) BElTATBE SEFERENGFAIEEZHNEFNE.
It would help the company to create more customer value by working closer together with the
customers.
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StegT{rAzUE, SRRl RE SRR TN RIEE.

ScrumdfaI#E BiSCINEE Z Y RT FMEAD RIE 12

An Agile way of working offers more predictability and more flexibility than traditional ways
of working.

How does Scrum help to achieve more predictability and flexibility?

A) -BRE—HEEHRIN, HBEIERaIFmuL
-5INScrumiRERERTE, FEIHRRIEME
- By having a daily meeting at the same time to help bring predictability
- By introducing a Scrum board to track the work to help bring flexibility
B) - A& MEHIERAYRRIR, B AT T
-BIIAEE TAFRI RS Bk RiE
- By making a new sprint planning every sprint to help bring predictability
- By not having fixed working hours for the team to help bring flexibility
C) -LEEIBARIAfHERSR, FEIHRI TN
-RIEREENHIF MmN EIIREE, BEHRRIEE
- By using an estimate of the team’ s velocity to help bring predictability
- By reordering the product backlog items as needed to help bring flexibility
D) -EILHRIBIMBENRAE, B RAI Tt
-IREFRHUARSSAKTEHAE (SLE) |, #EBIRRIEM
- By using sprint retrospectives to change processes to help bring predictability
- By having strict service level expectations (SLEs) to help bring flexibility

3/40
HScrum MasterfliEE CMZABNBIAERS, (BRSNS, BT UHESREEER.

iBRRIERE SR C AR R A RE?

A Scrum Master knows she should help remove roadblocks but is doubting if it is also
useful to establish a form of continuous improvement.

Is there overlap between removing roadblocks and establishing continuous improvement?

A) Z. Scrum MasteriERR SIS RHNE LRI E AV EBUHAT—3 D
Yes. A Scrum Master that removes a roadblock is doing a part of the continuous improvement
the team needs to establish flow.

B) 2. FEHUANERESHm, FrlAScrum Master NiZEILBHEFIARTRIE,
Yes. Continuous improvement is focused on improving the product so the Scrum Master
should use it to help the team flow.

CO) AR, FEUHFBENETIFESHFDEISIR, BIEAMELICEER.
No. Continuous improvement items should go on a continuous improvement backlog and
roadblocks do not belong there.

D) ~R. AEMRMEISYIEHScrum MasterseplfIESS, isEsi# NI Developers5ehk.
No. Removing roadblocks is a task that is done by the Scrum Master and continuous
improvement is done by the Developers.

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH) 6
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W EFEROTLIGEATEZ, [, RAiTHiEEBI T ERIET I Ecrt, LaE I BT 75 & ofaT
/8],

DA B A mmBe AR — AP EETIA?

Business requirements can change at any time, so by doing only the necessary work for the
required step to be considered complete, the project team saves efforts and time.

Which Agile methodology is best represented by this statement?

A) HERGFATTIE (DSDM)
DSDM

B) &ik

Kanban

C) XHtEScrum (LeSS)
LeSS

D) KHUERBUENELE (SAFe)
SAFe

5/40
AishafllfB{EF—#Scrum Master, TE/RRIHAE, MEIREIFIA TR RAT S S BIERI 327
. AishalfgEX 2R NEIARERNABRIIFrEIEEH TIFE,

AishaR iz EAMg?

Aisha is a Scrum Master. During a sprint, she realizes the team will not deliver a potentially
shippable product at the end of this sprint. Aisha suspects that this is because the team
does not review all of the code before it gets checked in.

What should Aisha do?

A) EFFRARASREELARITRIAIFAT

Ask the Product Owner for permission to cancel the current sprint
B) ERERASHT F—NRRALANEZ &

Ask the team to analyze what can be done better the next sprint
C) EKRFIAERZFENIEZRITThITE

Demand that the team reviews all code before it gets checked in
D) FEIHRIEHRLARS BT AT B9

Extend the sprint length in order to deliver the shippable product

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH) 7
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HEERARIFFAmEScrum#Zsy, X2 —MAREA. FREASRABEScrumBZA TIERIE A,
Developers$Scrum5E£pa4, Scrum MasteriEs 7 —&1ER )|, (BLKRER. WE, BNE
—ZIMEAEARREIE,

BB SES ScrumiEZEAI I,
ERIX G ERERR?

A new team is just starting to transition to Scrum. This is a pilot team. The Product Owner
has worked in a Scrum team before. The Developers are completely new to Scrum. The
Scrum Master has had some formal training, but limited experience. For now, they have a
project manager to oversee the project.

The team must be trained in the Scrum framework.
Who is accountable for making sure this happens?

A) Developers

The Developers
B) ~mARA

The Product Owner
C) mMEEHE

The project manager
D) Scrum Master

The Scrum Master

7/40
RLAESSFNBRE/ZTFScrum Master?

Which tasks and responsibilities belong to the Scrum Master?

A) Scrum MasterfR=RiIFHEIARNRAE, HEREE)SHESNERTBN=REEA, MEFRRS
AFTLAREUE S4T30,
The Scrum Master assesses the maturity of the team and informs the Product Owner in case
training or coaching are necessary, so the Product Owner can act appropriately.

B) Scrum MasterfAZR BN ZHFSWANIMELAF, BENAIMC T ERIREMESHIHE, FEIHPARRTE
AREEIRE,
The Scrum Master helps to arrange meetings and coordinate work, helps with tracking
progress of tasks with the aid of visual tools and helps team members overcome difficulties.

C) Scrum MasterASRIRERmiFNEIFIR, WRFMASRATFATREMBEE 7 ##EXEEREIR
Fr. RSERANE.
The Scrum Master keeps track of the product backlog and makes sure the Product Owner and
the Developers clearly understand the items and their order, priority, and value.

D) Scrum MastertazsE#Developers, FEEHMAS EIFHRIISEIES, LMEFEREARRBESEEET
PTEERI(ESS .
The Scrum Master manages the Developers and reviews and allocates tasks at the daily scrum
meeting so that all team members can maintain focus on the tasks committed to.

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH) 8
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NazZE— Azl BRIScrumBBAE{EScrum Master, iSO TFASTEMESIRITEFA—
AN AR, XRNAREFE—IEAN—8D, SEMFREXREARIKR, HP/lrmes
£, BIVFIBEFAS.

BENazsh, XMEBEREERIScrumBEIAA R 72 K T2 B RAEA. FRASARNHFE.

ScrumEFBA—E&{FEHEAE. ENazEEE, SRMMEEFEIEHEN, AREERLE300, &L
SrrmiEiAieScrumik ERIRE, BRI REIRIK RAEEANTIE; BARREREERIR
EFFEZRIREEE CRIEEF SRR,

Scrum MasterRiZ B AR EXFIE R ?

Naz is the Scrum Master for a Scrum team that has been established for four months. They
work on the development of an application for walkers and hikers. The application is part of
a suite and has links and dependencies to other products, some of which are already on the
market and some of which are still in development.

Besides Naz, the cross-functional Scrum team is made up of seven Developers and the
Product Owner. The Product Owner is quite new to the role.

The Scrum team has been working quite well together. However, Naz notices that the daily
scrum is overrunning on a regular basis, sometimes taking up to 30 minutes. There is
discussion with the Product Owner about items on the board, sometimes involving
questions and discussions around the dependencies; and team members like to get a good
understanding and a resolution to their questions before moving to the next item on the
board.

What should the Scrum Master do to improve this situation?

A) BIICIEEREA "BSKBHA" | "HIEREUETHARR" | LUK "REBEREE"

Limit the discussion to ‘What | am working on today’ ; What | achieved yesterday’ ; and
‘Are there impediments’

B) ANREXE—NMEESFTMAIAEScrumBEBA, XIS EE3055 FhRTIE)
Recognize that this is a large Scrum team with complicated issues and allocate 30 minutes for
this meeting

C) BRWopmERD, WIRSHEMMmAEERKIKRNEE
Split the meeting into two to work on the items which have complicated dependencies on
other products

D) FILRN, ERIEHSENEN T #ERESAIBaIFRZC
Stop the meeting and take time to coach the whole team on the purpose and the format of
the daily scrum

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH) 9
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HScrumBPANEAESHKITERMUCBELE. ZBRN THEXBELLRF. ARIIEEREFREY
2T, MEIIRBINGEENELAR, BENSTICECHES. MEARMER, MIIFRSENE
eI fth ATRED. EIREIAZREFIRAREXIEHIXFREIR.

Developerstgt 7LATRRTZ:
IR RNETFE LB ERBE, LICRESTESHEIER

FRRRARE T — e A EERSE:
-FUFENSE, LSRR, NEEWERER O ERE

Scrum MasterE RN BEAIRR TS =
-BINGR, SEEHERS (WIiP-limit) FOBlocker Ticket
-BINScrumtg, AEIEWIP-limitaBlocker Ticket, B2 FIEfR

Bp—Fh TR &I SE#EENEARL?

A Scrum team is looking for a way to optimize their daily work. The team has a chaotic style
of working. They often take on too much work individually. They are highly trained
professionals, but sometimes tasks get forgotten. If an issue is identified, they do not
always know how to ask others to come and help them. The management team wants the
team to get some grip on the situation.

The Developers propose the following solution:
- A dedicated channel in their social networking platform to keep track of blocks and task
division

The Product Owner proposes an entirely different solution:
- A Gantt chart that can be monitored online and is understood well by the management
team

Their Scrum Master has two other possible solutions:

- A Kanban board, that includes work-in-progress limits (WiP-limits) and blocker tickets
- A Scrum board, that does not include WiP-limits or blocker tickets but is easy to
understand

Which tool is most likely to help this team?

A) THEBEE

The dedicated channel
B) HH%E

The Gantt chart

C) FiRik
The Kanban board

D) Scrumtfx
The Scrum board

Zi{#£% EXIN Agile Scrum Master (ASM.CH)
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fEhRIEAE), FDeveloper MEMHMIEAETT RRIBFNE, XEMEKRIIRIEERES,

Scrum MasterRiZ ERHA BELL DeveloperfEfig £ RN TE?

During a sprint, a Developer does not understand the user story he is working on. This is a
potential roadblock for the success of the project.

What should the Scrum Master do to enable the Developer to work at capacity?

A) itDeveloperZBgIXNNE, HENERZASHEE T REDEIYIR
Ask the Developer to ignore the story and put it on the product backlog until the team
understands it

B) itDeveloperfgEBSEHADITHIARX MNRFEEE, LSRR
Ask the Developer to spend more time analyzing and researching the user story to help
understand it

O IFmARAERXITAFSNSE, AREERRSHDeveloperiEfi#
Ask the Product Owner to explain the user story and find a resource to help the Developer
understand it

D) i RARABHAFHEERIINTREDEIVIR, FHTENNS
Ask the Product Owner to put the user story back on the product backlog and improve and
rewrite it

11/40
A EERRHISCHESIEScrumsE, Scrum MasterREHERIHIRE: BHIAEEH.

Scrum Master I+ ABHEIXA?

A team is resisting implementing Agile Scrum practices. The Scrum Master has decided to
identify the type of resistance: passive or active.

Why should the Scrum Master identify this?

A) EARSEMEMGIREITERERHITIR, Tt I ERScrum TIE
Because a comparison with peer anecdotes from other teams on how Scrum they work with
Scrum must be done

B) EuHElRFAYSEENGEEE Scrum Mastertfs BN A SiFitiE SEIRA
Because identifying the type of resistance will help the Scrum Master identify how to best
coach the team

C) ERILAFEENScrum Masteritdl—RScrumEHRIINR, RFSHRINE
Because it helps the Scrum Master plan a training session on the Scrum events to reinforce
the value of the events

D) EAHBAAJREC LB T HRIER, HEBIIIEIKREFIERIRR.
Because the team may have lost sight of the sprint goal and may need training to get
realigned to the sprint

XN E{#EE EXIN Agile Scrum Master (ASM.CH) 11
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SusanfERAAFNE{EScrum Master, iR EDeveloper, {EEEE{EScrum Masterfats, ithHd
B\ EIFRYF, RESHERERNFISEETEL .

B2, BT LA, FANESRLTRIBIEIGIEZARIES. DevelopersiR/DXIMITFARAYFME T
. RS L, EAEMABlocker Ticket/zBRIX—EIEAIEhAIRE. HBARRIRIES BRUREER
([ 5= R WE VA E SIE S-S =

fEEHEeE, SusanFE|—"Developen iR ¥ IEAEAMEAI—MEIGESS. XNE—MEERDISN
IHIMERY T ARERRIRERS. BIAFIRBEMARMHSE, BSusantRiELIRIRILIATEIMA R A

=138
SusanRAZEAM?

Susan is a Scrum Master in a big company. Susan was previously a Developer but
volunteered for the Scrum Master role. Her team works well together and has a good grasp
of Agile principles and the Agile ways of working.

However, the team is under quite some pressure in their current sprint due to some
problems. The Developers lack detailed knowledge of the testing environment. The team
uses blocker tickets to reflect this problem and other issues during the daily scrum. Team
members select their next backlog item to work on according to their skills and
preferences.

During the daily scrum Susan sees that a Developer reports an impediment on the ticket he
is working on. This is again an impediment due to the lack of understanding of the testing
environment. No one else in the team offers help, but Susan knows how to solve this
problem from her previous experience.

What should Susan do?

A) NEINZHF—XERRIEI, =BT XTI SR T %
Arrange a short training session for the team to improve their knowledge of the testing
environment

B) BRIAREEHIX"Developer, FiHIL SRR
Go to the Developer after the daily scrum and use her experience to show him how to solve
the problem

C) 3zRPADevelopersRniElfBRIXNMa @, MMHEEESHIFIRDE
Quickly show the Developers how to solve this problem, thereby coaching them and sharing
knowledge

XN E{#EE EXIN Agile Scrum Master (ASM.CH) 12
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EATMEZNScrumBIBA, FRIIBEZE TR ERNREIIR, ANZBORETFRE
8, KK REMAR.

PNENEE T BNMEFDBIFIR. BANFFRASRAUREZAScrumBBA. 84 ScrumZBAS ESJ 1
Developersf1&BEHIScrum Master,

BBNScrumf B RIES A T/F?

A company is working with several Scrum teams to make sure they can keep the deadlines
their customers require. These teams must make sure that their efforts are not duplicated,
that dependencies are visible and clear.

The company has opted for a single backlog, a single Product Owner, and multiple Scrum
Teams. Each Scrum team has several Developers and their own Scrum Master.

Which Scrum role is best placed to coordinate the efforts?

A) Developers, FAZAEEKREEE, ROZBEE NV

The Developers because the teams are self-managing and should be able to coordinate
B) mmfakA, BEArrRARABRSIIMEFmEIEIFIR

The Product Owner because the Product Owner coordinates the product backlog as well

C) Scrum Master, EAMB(IIBATEISEMtEScrum MastertiiE
The Scrum Masters because they have time to coordinate with the other Scrum Masters

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH)
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REASRIEFFARAScrum TIESE. [RICAISIEEIRERAMAImAEA.

Py
ERRZE, FmASAIRT AR OEES. ARERIEIEZS, PR AGERILE,
TR BIXFMEEIEEB M. DevelopersBAMAMEES TIXHE, EEEHFREITIC,

AR AR BMNIZRE S EES?

A team has recently started working with Scrum. Their former manager is now acting as the
Product Owner of the team.

Before the transition, the Product Owner was used to dividing the tasks over the team
members. The Product Owner keeps doing this after the transition to Agile, because it
worked so well before the transition. The Developers are just accepting this, without even
discussing the matter.

Should the Product Owner keep dividing the tasks?

A) B, FAArma S ARERISREMLENZHKTe, ERIETTHK.
Yes, because the Product Owner is best placed to determine what must be done and by
whom.

B) B BEAEEREZA, BMETmRAskADEES TEUS TRIFAIRER,
Yes, because the team has had great results with this person dividing tasks before the
transition.

O A2, EAEScrumd, HBAKWRBDevelopersAgEnBELES.
No, because the Developers are the only persons in the team that may divide the tasks in
Scrum.

D) &2, EABEMERTICHMESDEHURESHEA.
No, because the team has not discussed what the best way of dividing the tasks is for this
team.

15/ 40
ScrumA A EEE ARRISEIAERS E R SMBEERREITX S . FIMREUSIHR] B imriH
[, Hebh—aedEy 2 TS EERS.

B— e ERR?

The separate roles in Scrum are accountable and responsible for different things. One of
the roles is accountable for adapting the plan, and way of work, as and when needed, to
ensure that progress is made toward the sprint goal.

Which role is accountable?

A) Developers

The Developers
B) MmfasiiA

The Product Owner
C) Scrum Master

The Scrum Master

XN E{#EE EXIN Agile Scrum Master (ASM.CH) 14
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FScrumBIAEPRIH RIS EEIRRA T 5eRRIENX (DoD) . RIS L, BEAEET
FNEMFIRFERMME, FHET ITRIGDEIIE.

RSN £, BBAAHAFEEDoD?

A Scrum team uses the definition of done (DoD) for the first time during the sprint planning
meeting. In the sprint planning meeting, the team estimates the size of the backlog items
and creates the sprint backlog.

Why does the team need the DoD during the sprint planning meeting?

A) EABMEETRINTRE, BNERREEME

Because each feature is checked for readiness as soon it is finished in the sprint
B) EAFmARAGASDEIYIRFEREHEER

Because the Product Owner must confirm that backlog items fit the requirements
C) EAEBALIG IHRI B EBERT 3247 5

Because the team must accept the sprint goal as a potentially shippable product
D) EAT{FERATHHEFDoDAIERK

Because the workload depends on requirements of both the features and the DoD

17 /40
R RmARANTRAFDSRIVIRRS TUTHRREE:

TEIIERAR, FBLFHIB | REREEEFHIRE, XHERHATUIREDL T,
XA HERERE TRNPRF DS RGO ERNEKREE?
A Product Owner writes the following user story for the product backlog:

As a data entry clerk, | want a good user interface for the administration of customer
Invoices, so that | can work fast.

Does this user story provide the necessary specific information to be pulled into a sprint
backlog?

A) B, BAEHREETLURIIESES.

Yes, because additional information can be added during a sprint.
B) B FENEERE THEFIIRFHERER,

Yes, because it follows the recommended template of a user story.
C) 72, BARFPRENSHAEER,

No, because the identity of the type of user is not specific enough.
D) A2, Bl "#FRY" 1 "RE" XA MIREER.

No, because the terms ‘good’ and ‘fast’ are not specific enough.

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH)
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Scrum MasterfIF=RAR B ALEEDT— NI RFNDEIFIER. Scrum MasterFE2EI, 7P=aRF
DEIGIRPE—LHRFMAINEE, BN, —EUERRENZBERIANEF, 5—LEU
JANSEIEF. MREASHZENTERIANEF, EiFAIEEIFH.

PRSI BRI IR RS MIZ AR ?

The Scrum Master and Product Owner are analyzing a new product backlog. The Scrum
Master notices that the product backlog has some very detailed stories that have lower
priority. Some lower-priority items are not grouped into epics, others are. The high-priority
items, on the other hand, are not grouped into epics at all and are all very detailed.

Is that the way the product backlog should be refined?

A) 2, EANERENEBBRNEEN— N TRIGDSEIFIE,

Yes, because the high-priority items will be pulled into one of the next sprint backlogs.
B) 2, FEMHIRAEF S sE R MR B ABUHA,

Yes, because user stories of any priority may be very detailed or described generally.
Q) 72, AAMERSNFERNFMELR, LISIFREINEIL,

No, because high-priority items should not be detailed to allow unexpected changes.
D) &2, FENSEWEETER, MA—ErPR Bir.

No, because stories should always belong to an epic to form a coherent sprint goal.

19/ 40
BRBERST RN T B RFRIFTIKER.

IV MRS RAAIKERRT?
Organizational goals are related to products and the requirements in the product backlog.
How are these concepts related?

A) BABREE ST mFDEIYIRFZBNTmEr. BRETEEE, HAEEINRAME. FRE
ERNSEFEEFIRERES.
The organizational goals are product goals that contain the product backlog items. The
organizational goals are regularly refined, to add most value to the company. The product
goals are the stable elements in the organization’ s communication with the customer.

B) AR BEIREIEHERANECIRENER, AT IMXLER, M mBEmeiss i — s MEAER. ™
S EIYFRSF B E X T L= m B AR L.
The organizational goals are the objectives the organization has set for themselves. In order
to achieve them, the product goals must support one or more organizational goals. The
product backlog items define what is necessary to achieve the product goals.

C) FmfFRSBIFIERFRUTUSHE— M MESHGE D, BRERISTEMI-RER, (FAESRER
WAL, SEFMRESNERSE T HIEmIERIXER.
The product backlog items can be consolidated into a single portfolio overview. The
organizational goals support the high-level product goals, as input for the portfolio view.
Senior management uses the portfolio view to help understand how all products are related.

XN E{#EE EXIN Agile Scrum Master (ASM.CH) 16
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H A EERMEE DER ERFIN DRI RIS, BIIATE—NMNATEIEORAR, SIFFEIR
i, F=ERtEAESDevelopers#ShEER.

E RSN ERISEEEIRRGER?

A team struggles to keep the sprint planning meeting within the timebox. They argue about
every small detail and this makes the meeting go late. The Product Owner often argues
with the Developers about the estimation.

Who is accountable for ensuring the conflicts are resolved during this meeting?

A) Developers, EAZMIAITF=mARAEESENAETHFIEH
The Developers, because they allow the Product Owner to drag them into conflicts about the
details
B) AR, FEAMIINIZRATsERSEEERETIIE
The organization, because they should facilitate ways to help the team work together properly
O mmRAxiEA, BArRREA—BEET$DevelopersfyfiE
The Product Owner, because the Product Owner keeps interfering with the Developers’
estimation
D) Scrum Master, EF3Scrum Mastertdi(FRa LN s
The Scrum Master, because the Scrum Master is accountable for ensuring an efficient meeting

21/40

FScrum MasterIEAEE—MFTRIBIASUR AN EHNE R iR TEE. BP— N EERIEAIRR

B, ANERBEERXIPPRIERA, MXIRMSEISRAPRIZTA. s, BRANIZAEEE

%E;ﬁji E XML BERI IS ERATRIBER, BMEZEFNERGIRFZB ARG NIPRIFT
IF=.

XITEPSESRAYSRI, AEEARGEEREHAEEREEEERA?

A Scrum Master is teaching a new team how to estimate using story points. A more
experienced member of the team argues that an estimate in story points would be useful
only for the sprint they are planning and not in upcoming sprints. He argues that they
should estimate in ideal days instead, because those estimates are also useful for upcoming
sprints, even if the backlog item does not end up in the sprint backlog immediately.

Are estimates in ideal days more useful than estimates in story points for upcoming sprints?

A) 2, ENEERABRGERTIESLFEFRRIELT.

Yes, because ideal day estimates allow for interruptions of a regular working day.

B) 2, EANEEARRETASEILRTERTEL,
Yes, because ideal days are based on the non-changing actual hours of work.

0 A2 ENREEREEEREEIGEEARER,

No, because estimating with story points is usually faster than with ideal days.

D) AR, EANEREEEREETENAII/NRAREIR.

No, because story point estimates are based on a relative indication of size.

XN E{#EE EXIN Agile Scrum Master (ASM.CH) 17
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REBNEEGEERTER, 7 AT TIFSEEE

-Developers&t 3 M RMHIT AI—257= RFDEINFIZR S B IR T 132 hRIA0ER,
-Scrum Master[BE]E 7 BIJ LA HRIAIEZ, FS T 7L NAREER B EE T — N hRIa0E:,
PR EAER T ER LTGRO,

PAEGES, B— M ARMEEERTI5A?

A team is estimating their velocity. They have done the following to help estimate the
velocity:

- The Developers have made a forecast of the velocity in future sprints for a type of
product backlog items that they have never done before.

- The Scrum Master has looked back on the velocity of the previous sprints and has written
down several historical values that help estimate the velocity in the next sprint.

- The Product Owner has looked up a few industry standards of velocity.

Which of these practices is not a good way to estimate the velocity?

A) T
Making a forecast

B) [HSEEE

Using historical values
Q) 1R
Using industry standards

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH)
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FEScrumBEIAGREIHE. BR, &IAMIIAREESINIRIER, REESNPRIEBEH AR
AYIRIRETRER T (A, Scrum MasterfEiRIEIFEIN ESEM—ERE T X MNEE.

Developers R l&/5— N RIFELI T E)RE:
-FEENHRE, BEESSLKITIERES/ 1SS
-EEESERREEEE/ L NNEINER
-EREPAR R AR A EABE A LRI
-FERARA LN BEIHIMAT ’ER(ERER

ER— AR SR ST R B R T sE R E ?

A Scrum team has a history of performing very well. However, recently they have not been
able to meet their sprint goals, despite budgeting time in each sprint for unforeseen issues.
The Scrum Master investigates this issue with the team in a sprint retrospective meeting.

The Developers identify the following problems with the last sprint:

- the team discovers a few impediments to the workflow after each sprint

- sudden requests that cost a few hours are regularly pushed by management

- specialist team members got suddenly pulled from the team to help other teams for days
- the Product Owner had taken a planned two-week vacation in the last month

Which problem is the most likely reason for not meeting the sprint goals?

A) (=58
The impediments
B) ZX

The requests

0 &=

The specialists

D) {E&HA

The vacation

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH)

Agile Scrum

19



24/ 40

AR E IR 5]

1- PP

2-1%h

34T (3)

4-B5e

SEFIRE 1 (3) " BETREETRHA

A team uses a Kanban board with four columns:

1 — User story

2-Todo
3 - Doing (3)
4 — Done

What is the most likely meaning of the '(3)" in the third column?

A) ZFIRIEFImERE] (WiP-limit) 793,

This column has a work-in-progress limit (WiP-limit) of three.
B) ZzFIB="infERAIESEBlocker Ticket,

This column has three invisible blocked tickets that must be solved.
Q) RBEIZFID A=AMEITIKE.

This column is the only one divided into three separate swimlanes.
D) EIRANE=1TEBAARIN=51 "BHTH" .

This team has three team members and three Doing columns.

25 /40
ScrumitEBRIERMHA?

What is the main purpose of a Scrum board?

A) #HEjDevelopersHRATIE, BEERIRIIEE.
It helps the Developers to organize their work and see how much work is left.

B) #HEImARARIRENIIE, HESELR,
It helps the Product Owner track the team’ s work and report back to managers.

C) #3B1Scrum MasteriRERENDeveloperffllBIEYESS .
It helps the Scrum Master to keep track of which Developer does which task.

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH)
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HScrumFAEAE AR EIRE: TR, EhRIERE), MAREMN TAR:

FRIRIRTIER (LISEREIT)

AdiE) (LAKI)

RTFARR PR AT AR ER—IN?

A Scrum team is using a burn-down chart to track their progress. During the sprint, the
graph looks like this:

Effort left in sprint (in story points)

Time (in days)

What is certain about this sprint?

BEAE , BT—R

Zi{#£% EXIN Agile Scrum Master (ASM.CH)
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A) Developersff9T{E/>FTRER,
The Developers are doing less than they anticipated.
B) DevelopersiEfE#&it k5 dRI B1x.
The Developers are on track to finish the sprint goal.
C) DevelopersiBZ|T—1MERE, PANEHIRE.
The Developers have run into a roadblock and are stuck.

27 / 40
HHRREEScrumi LEREWRG L. ISIANTESRRES (WiP-limit) BEES, HAFHRHE
Blocker TicketiRBIBBASHESS ST AYFERS .

Scrum Master A NiEHR _ERIPERS Bl E1Z I a4t EBlocker Ticket, BIEHIFAIMCEIITFART,
BT EBRNFEERRANE, Scrum Masterfnizi{alibiEBlocker Ticket?

A team decides to use Kanban techniques on their scrum board. They have introduced the
concept of work-in-progress limits (WiP-limits) and started using blocker tickets to identify
impediments that prevent a task from being completed.

The Scrum Master is unsure what to do with blocker tickets once an impediment is
removed from the board. It seems wrong to just throw them away.

What should the Scrum Master do with blocker tickets to bring most value to the team?

A) BEHH, WEREHIRBITSEAREMENERER
Group them to see if a common theme emerges that indicates a cause of many issues
B) B REXNEITRE, HHERARRE, LBLIEESES
Investigate them for a root cause after the issue is resolved, to prevent further impediments
C) "WHERER, SfEfRIEMEN EiTeE, LAREEDevelopers
Keep them on display or review them during a sprint retrospective to remind the Developers
D) AFKHIFCA "B’  NREECEMREFBFE, USEBRKR
Simply mark them as ‘done’ and remove them if the impediment is resolved and no longer
exists
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HScrumBIARIN Y —NRESE, MIBAAVRS LR, BIBAMEPRIERTZTRER 20 %ATERIE
SHE, ELK—LEESIENARNTRIFFDRIFIR, UFEDFIBX20%9E. HBALY
TE T IESHPERBITIX20%A9RT 8.

FRRRARR T HRXESE, MENERSTERESRAARRIFRIAIEHE.
BP—IURNIZKRERRIRAE 507

A Scrum team has found a critical bug that they feel must be solved right away. The team
always has 20% of the time in the sprint set aside for fixing bugs. They have already pulled
some legacy bugs into this sprint backlog to fill up the 20%. The team has agreed not to
spend more time than 20% on fixing bugs.

The Product Owner has identified the new critical bug as having a higher priority than the
bugs they have currently pulled into the sprint.

What is the best action to take?

A) BRERFTRREBEEIARARISDEIFIRSD, BIERAMES SRR EZERIE 20%
Add solving the new critical bug to the sprint backlog even if they spend more than 20% of
the time on bugs

B) EUEARR, ILEAETTHESHE, MR ERIFEHHYRY
Cancel the sprint, have the team focus on fixing the bugs, and start a new sprint once the
bugs are solved

C) BHAIBPEFINFRAFNEIFIZR, RHRIBRIEDERYIREEETF
Put the new bug into the product backlog because the sprint goal and backlog have already
been finalized

D) KBEFAIHIEIEE TEEBRMIESTHAIKENE, MHEHEHIE20%
Swap out an equivalent amount of bug-fixing work in favor of fixing the new critical bug to
keep to the 20%

29 /40
RERAEFAIE, RFHE— T REE— T REDEIIIR. ATZEEERIN T RENLSE
IpIER, B IRATHHEREET A,

ARSI R R G IRAIAR?

Even in large development projects it can be best to have only one product backlog for one
product. To manage that single product backlog properly, the backlog cannot be too large.

How should the product backlog be kept to a reasonable size?

A) FURFILNRIBRIER

By forecasting what the next several releases must look like

B) FiBRRAFE ZARIKERER

By proactively eliminating dependencies between user stories
C) B St ALEXRFDIEMTIRRAR

By sharing accountability for the product backlog with others
D) WESLFHAFHE, B/INEEEESE

By using epics and grouping small stories into themes
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HaElEid Nexus 7753 T KB IS,

NexusEERHEIAASE—RFRIFHMERTEE. S MBI SHEScrum MasterfSBNiBRRIEHS,
EEScrumBIARE— M RARAM— N miFDSRITIE.

XEEENexusHENIERIZRAAR?
A company uses a Nexus approach to scale a large project.

The Nexus integration team coordinates a single sprint for all teams. Each team has their
own Scrum Master to help remove roadblocks.
There is a single Product Owner and a single product backlog for all Scrum teams.

Is this the correct way of using a Nexus approach?

A) B, BAXEEUREESNexus, LUENESNMEAADHMENFE.

Yes, because a Nexus approach can be filled in flexibly by the company to fit the needs of
each specific company or project.

B) &, BFEANexusM\KER—MFmFNSEIFIR. — N "mAskA, UKREHEADREHR.

Yes, because a Nexus always has a single product backlog, a single Product Owner, and a
coordinated sprint for all teams.

0 A2 EASTEINESENFTRASTA, RIS REFDEIFIR, LASIFEAIE.
No, because each team should have their own Product Owner as well as a separate product
backlog to support their work.

D) 72, FEAZEAMINHZERATA. FRFDERGIRFFR], EAEZScrum Master,
No, because the teams should not only share the Product Owner, product backlog, and sprint,
but also share a Scrum Master.
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AR NEHESKAYEESE. EATRBLUTIE.

-ANERBIN— N IEMERK, ERELHRKHE. BT REAEH.
-ITERIA— I B &RLHRRE, MERK, M EEREeERI=(E.

BBNERI R B AE S R AR E?
Not every project is suitable for an Agile approach. A company has the following projects.

- A project in the HR department has a tight budget, but no determined deadline. The
requirements of the project are not clear.

- A project in the IT department has a pressing deadline and a tight budget. There is no
room to change the scope of the project.

Which department has a project that is not suitable for an Agile approach?

A) ABNEER], BARBITIMEEEXAELZE.
The HR department, because only IT projects are suitable for an Agile approach.
B) ANEIRER], EAMEIINIREIRERMIEK.
The HR department, because they have no clear requirements for the project.
C) ITER), EARFEREME EER=E,
The IT department, because there is no room for changing the scope of the project.
D) ITERI), EAMIMERK, SELHRZE.
The IT department, because they have a tight budget and pressing deadline.

32/40
HO R EIE—NScrumBRABIE R EFrE—ScrumEIBA.,

T ARFIRFIGE AT ?

A company wants to use an additional Scrum team in addition to the Scrum team that is
currently working on a project.

When is this a good idea?

A) HIMBIFFESZ. BMENScrumBIINFESFFEEERNEE T
When a project is very complex, and the current Scrum team does not have all the needed
competences

B) SMBScrumBIAEBEZTTIRIMER]. MIREHANEXRE R
When the current Scrum team has a great diversity in gender, race or culture and relevant
backgrounds

C) LHEBANIFFIREEES, BN BREMRRE ST
When the team has just transitioned, and the team members do not work well together in the
beginning

D) ZigErtEiEl. BEIBScrumBIARITFZ i RIRBERAT
When there is little time for training and the current Scrum team is made up of many
inexperienced people
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HOAEIERAScrum LEIGEM. FrEEBARRZELE—ZBo BT EIER DL, XikScrum Mastest
EScrumBEE,

BB ERTERkScrumigi)ll, fEiIsRE [mScrum Masteriglal, BIRARRBEIE Lz BigEERE, A<
Etféé".%‘gt}o FIScrumlERIUFAES. BRRZEAEHERZR, XEREMIFERFID
TRESS.

BpFh TEXIEIARIHEIRA?

A company has difficulties adopting Scrum. All team members work from home at least a
part of the time. This makes implementing Scrum difficult for the Scrum Master.

The team has not finished training in Scrum yet and they often have questions for the
Scrum Master. The team members feel disconnected from each other and often do not pay
attention during meetings. Their will to learn Scrum seems low. The team members do not
often communicate with each other. This also means they do not coordinate their tasks very
well.

Which tool will help the team most?

A) M BElLEBA R RIFERmAIH R E TS
A social interaction platform that allows the team members to communicate continuously
B) J3Scrum MasterigRIBESR, BBAALRRILATE EEA A

A special message board for the Scrum Master where the team members post questions

C) —NFARER, SXEREBAEFIAScrum{E#z>
An application that gives the team daily tips on how to use Scrum to facilitate learning

D) —MELELFScrumik, PTBREIARLRERREEEFHFEEAER

An online digital Scrum board that is visible to and used by all team members consistently
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EHImEREABEScrUumPHAEFE, BE, —&&E5 EHINBREMASEI AN,
XEAEE KIS o EA T ZScrumBe,

BB ERYEN G FEE:
-ffRDevelopersiRiFiHE
-TRR P R T SUEICR

HENIZERIRIX LR R?

The traditional project management role does not exist in Scrum. However, some activities
that are traditionally done by the project manager must still be done. Most of these tasks
are divided over the Scrum roles.

An example of activities that are still necessary includes:
- making sure that the Developers track progress
- making sure that the product has proper documentation

Who should take on these activities?

A) Developers

The Developers
B) ~mARA

The Product Owner
C) Scrum Master

The Scrum Master

ExN E{#EE EXIN Agile Scrum Master (ASM.CH)
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RRERM, SRIVELEAEZAIRR. EEAScrumIFR2EERRSE.

BEPTERIE T —FEER, tBERTRAAMBIITL. ASHRATEREESHTHRSEE, 7
FET ScrumB,

RNEBAT—RABERN, ERREIMEAHTILE. MIREEBILEEIScrum, FeA—L/NIHE
MEEANScrumBIAEF. BFHFITERER)IRNBIE, EARTIIMERRES. KEZIIE
BH—ERBAIRSEBBERREA,

HEE, NENWGHRIAZIRAScrumfiYith. HIXGETIEELRM,
PR— IR AL KA R T BE R

A company has discovered that the current process is not delivering acceptable results.
Transitioning to Scrum seems like the best solution.

The CEO has created a sense of urgency and is also speaking to stakeholders about his
plans. Most employees are excited to learn more about Agile and have started researching
Scrum by themselves.

The company has a large meeting and collectively decides how to do the transition. They
decide on a slow transition to Scrum, starting out with some small projects and a single
Scrum team. The CEO decides to make training optional because the employees are so
actively researching. For the most important project, an experienced project manager will
act as the Product Owner.

After half a year, the results of the company have not been what was expected with Scrum.
The transition is called a failure.

What is the most likely reason that the transition did not work?

A) RNENIZGFEEERER, LEERER.

The company should have opted for an all-in transition to go with the sense of urgency.
B) RIMIKEZFHRSHIScrumizZill, IHER T {EIRFI#HT,

The employees did not receive enough training in Scrum to make the transition work.
C) MBZKEMFmiTHRARLIEE~RRAEA.

The project manager did not know enough about the product to act as Product Owner.

EXIN E{#EE EXIN Agile Scrum Master (ASM.CH)
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HHEABAIEEEEFIScrum, AlexanderEF AR —, M FEENAREZNRScrum, FIRAFFR
XIScrumsLiy, EELLSWNSFTERERE. Alexander2— MEIAE.

Addy2EBARIScrum Master, fbFmZ2AlexanderlEF, XHFEIAABERLTI.

E—IERYTAlexander{T HEIRIES = ?

A team is transitioning to Scrum. One of the team members, Alexander, really seems to
dislike Scrum. He is actively speaking out against Scrum practices and is turning the mood
of any meeting sour. Alexander is a saboteur.

Addy is the Scrum Master of the team and wants Alexander to stop, so that the team can
succeed.

What is the best way to respond to Alexander’ s behavior?

A)

B)

0

D)

Ei\AlexanderfU1Eif, IEAUXFMOIER, LAY ERA TIETZA#

Acknowledge Alexander’ s fears and confront them, and make him dissatisfied with the
original way of working

AitAlexanderff2ill EAS, IBMAZIZ—IERN, MRAITF], ZEHEEMWD

Do not let Alexander talk in meetings, move him to another team, or if that all fails, consider
firing him

HafRAlexander Tf#Scrum, Sftt—ERIERNAIAE, FERAEEEENE

Make sure Alexander understands Scrum, give him some time to adjust, and appoint a
champion skeptic

IERTHAEITAENE, itAlexanderS5HEANE), MHIEBEL TR

Model the desired behaviors, involve Alexander in team activities, and praise him for doing
the right thing
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ScrumEFAREEEE, XEREMIITLABRIEETIFSAREE, B/, BEABITHRE
&, MEMNEEREIEATNR,

ScrumEBAIMYEERARIANFZTIER, BSELHIRILLE,
B—IEEEARAEScrumpIfER?

Scrum teams are self-managing. This means that they have freedom to choose a way of
working, and what they commit to. Teams also solve their own problems and should have
all expertises covered.

It would almost seem like there is no role left for management outside the Scrum team, but
this is not true.

What is the role of management in Scrum?

A) HRFRGEEAFScrum MasterflE T IEMAYTHRIFHE T RARHAR
To make sure that the Product Owners and Scrum Masters have a detailed planning and keep
to deadlines

B) HAREHEIPAMEE TSR, FHiREHE
To make sure that the teams compete with each other over incentives and keep increasing
their efficiency

C) HBRERBIFEH, ARRIFEIERHELSFScrum
To make sure the organizational goals are clear and the mindset of the company is Agile to
support Scrum

38/40
FSERRERIRA LU EL R EFIRA BB = A EFTES HINIER.
AratiIEETEE?

Cross-functional teams are better at estimating the size of new tasks than other teams.
Why do they make better estimates?

A) TR FEAEERA
Because the team can do with less planning than other teams

B) AFELETLIFBARLE A

Because the team does not have to hand off work to other teams

C) E\EBESHEER
Because the team has a person that specializes in task estimations

D) FBAE&ETA LIERFRRIFTARE

Because the team has all competencies needed to accomplish the work
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RATEEMMEF U ABIEER, EF— 1 EEITFSRTIR. RTIRNEEEMER, SHH
LETISRAIRANEIFOAHE 4.

B —IE A B RT HAR AR T IRAVERAE TS =07
A company is transitioning from a traditional culture to an Agile culture. On one of the
teams, there are many conservers. The conservers resist change because of fear of the
unknown and the uncertainty it brings.

What is the best way to make use of conservers during the transition?

A) RFIRKERIRXRD. FIBMIIARE=EHRIWSEHT, FHESHERME.

Conservers are focused on the bigger picture. Use their skills to generate new ways of doing

business, and streamline efficiencies and effectiveness.

B) RTIRSIEEEMLHBMSE. FBMLIIATEEE, (FAEBARELMNZERIZZAIHE R,

Conservers can see both advantages and disadvantages. Use their skills to operate as the

mediator to identify acceptable common ground between teams.
C) RTFIRESERLHHZTE, FIBMAIAKEERXITEHLE, AT SHER TSR TR,

Conservers will do well with an evolutionary change. Use their skills in planning incremental

steps to transition the company without disrupting business.

Zi{#£% EXIN Agile Scrum Master (ASM.CH)
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EARERS SRR AAESF LY. ATSHERETR, EPEERATEE
TIBHFFIOER, AHORNRILATDSEBGE,

NEIREIMEIEScrumisy, HEBEMENBES S ARSINScrumiEi)ll, #IEN—ERA
Scrum,

EEEX BRSNS SAL SRR, RAXERITRATE,
LR B RIFAIEETST0?

The board of a company has appointed consultants to identify the organization's loss of
competitive advantage. The company creates highly complex products and the customers
often have new requirements after product demonstrations. The recommendation is to
become more Agile.

The company decides to switch to Scrum immediately and instructs everyone involved with
projects to attend a Scrum training. New projects should all be using Scrum.

Management does not want to adjust any of the current leadership styles or structures,
because that would make them lose time.

Is this a good way to transition?

A) B, EAFRTEREFEAR, HHNLREMRET, TR THRIBRITES .
Yes, because a new method will inspire everyone, and big-bang implementations work best to
break with the old ways of working cleanly.

B) 2, BEAScrumB—TERZFRISIESE, £REBE)IALBBRXISARESR.
Yes, because Scrum is a simple and easy to learn Agile methodology and retraining everyone
ensures this approach will work soon.

O A2, ENSEEZSHNE—TEYE, MAR—Mstly, WREEEEERETScrumBiFTHESR, &
FEISIRIGER AT,
No, because Agile is more a mindset than a practice and will succeed best if management
changes the culture before transitioning to Scrum.

D) A2, AANEEENIZHEScrumEZRRFKEGATNSUESE, AXRETIASERILE.
No, because management should evaluate if Scrum is the best Agile methodology for the
company and look at the practices of industry leaders.
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Yellow IndustriesATINZERARENRSE, ZERFEEIELEYellow IndustriesfIr= @ S5t 1A9F KA

ﬁo

EESHEEMNEGEN TSI, ILATEIRERERIMS R,

BEEENTER AT Yellow IndustriesZ#ERA?

Yellow Industries is losing customers. The main complaint of their customers is that Yellow
Industries just does not make the product that they want. The board wants to start working
in a more Agile manner to make the company financially healthy again.

How would working in a more Agile manner benefit Yellow Industries most?

A)

B)

0

D)

A)

B)

0

D)

EETARTOE—NERFIIMNG, NMEIBMERFE.

It would help create a more friendly environment for the personnel which increases valuable
output.

AT IIEFEFARERSRBEREAE CHIFEK.

It would help make the customers more responsible for expressing what they want before
development.

EEMTREATNASZAER, RASRER—ME38ITIES.

It would help reduce the personnel costs of the company because Agile is an efficient way of
working.

EENTATBE SERERENIGFEIEESHEFIME.

It would help the company to create more customer value by working closer together with the
customers.

Hix. BATEIERE TSN RESHIIXMER, BHIIATREREAZLE. ABHIGRIEE
FARRATACNEH, MEZFNTRARE. MAFRIEAZLERMISKEIZFIIR R,
Incorrect. Although this may happen when starting to work in an Agile way, this is not what
helps the company most. The problem the company faces is not that the workers do not
create output. The problem is that the customers are unsatisfied with the products. What
helps the company most, is the feedback they will receive from the customers.

X, AEINMEBEZR, EPAACERFEECHER. EMRIRGATRIEHRR. ILEFPEFF
REIRABZHE RS NE L.

Incorrect. Customers do not always know what to ask for before seeing an increment of value.
Regular feedback loops will help the company most. Asking the customer to express more
ideas before development will not help the company at all.

Hix. BEEDETTEFRASZNRA, ME—HESMIELN. BENEREAEFEIEESME, A
FEENMAFRAE, BAEFEEAMNMESLR, XBHASHRERRIMSRR.

Incorrect. Agile is not a way to reduce personnel costs because it tends to be an efficient way
of working. Agile is focused on creating more value for the customer, even if that means
increasing personnel costs. The idea is that customers are willing to pay for value, which will
help the company to become healthy again.

IFff, AFEIENERRREZEFNTmins. SESEHARNEX—R, WREFEHHEHR
IR, GMEEIEEZHEFME. (O A, $B1.18)

Correct. The main problem the company is facing is that the customers are not happy with the
products. Agile will help the company improve that by making sure the customer gives regular
feedback, which in turn will help create more customer value. (Literature: A, Chapter 1.1)
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StegT{rAzUE, SRRl RE SRR TN RIEE.

ScrumdfaI#E BiSCINEE Z Y RT FMEAD RIE 12

An Agile way of working offers more predictability and more flexibility than traditional ways
of working.

How does Scrum help to achieve more predictability and flexibility?

A) -BRE—HEEHRIN, HBEIERaIFmuL
-5INScrumiRERERTE, FEIHRRIEME
- By having a daily meeting at the same time to help bring predictability
- By introducing a Scrum board to track the work to help bring flexibility
B) - A& MEHIERAYRRIR, B AT T
-BIIAEE TAFRI RS Bk RiE
- By making a new sprint planning every sprint to help bring predictability
- By not having fixed working hours for the team to help bring flexibility
C) -LEEIBARIAfHERSR, FEIHRI TN
-RIEREENHIF MmN EIIRER, BEHRRIEE
- By using an estimate of the team’ s velocity to help bring predictability
- By reordering the product backlog items as needed to help bring flexibility
D) -EILHRIBIMBENRAE, B RAI Tt
-IREFRHUARSSAKTEHAE (SLE) |, #EBIRRIEM
- By using sprint retrospectives to change processes to help bring predictability
- By having strict service level expectations (SLEs) to help bring flexibility

A) IR, BRE—NEFSEITUR, EARRRFIFHERRTUUME. SIAScrumiRFAAEEEINREME.
Incorrect. A daily meeting at the same time is predictable, but not the type of predictability
that is meant here. Introducing a scrum board does not increase flexibility.

B) $EIR. FAUFRIHIEARRERERIEE, MAZUTUE, FEAHERKE, SEE Y ERRIE

Incorrect. A new sprint planning is more likely to contribute to flexibility than predictability
since it spans such a short time. Flexibility in the sense of flexible hours could be a part of
working Agile, but this can be offered as a part of more traditional ways of working as well.

C) . (HEEANRIRHEREEFIUET— (JU) HRIEIEMI TR, MNmESEmsI%E

FEE TR, TR TN PRI TERERRESE. Ol A, 556.168/M5%510.118)

Correct. Estimating the team’ s velocity helps predict the amount of work that can be done in

the next (few) sprints. Reordering the product backlog items makes sure there is flexibility in
what is done during the next sprint. (Literature: A, Chapter 6.16 and 10.11)

D) #iR. TEWRT. BEEREEEEY—MRIEM. SLEAMAEER, NaILAmk—Larmuit.
Incorrect. It should be the other way around. Changing processes is building in a type of
flexibility. SLEs can bring some predictability if it stands in for velocity.
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HScrum MasterfNiEH CROZAENBIERS, (BRSNS, EISFEUHERREHFERA.

iRPRIES SN MRS R AR RE?

A Scrum Master knows she should help remove roadblocks but is doubting if it is also
useful to establish a form of continuous improvement.

Is there overlap between removing roadblocks and establishing continuous improvement?

A) 2. Scrum MasterBIRIEIS AR S mAEAT R AURHERUHAT—30 5
Yes. A Scrum Master that removes a roadblock is doing a part of the continuous improvement
the team needs to establish flow.

B) 2. FEHUANERZESUHT M, FrLAScrum MasterRiZE I BHERFARTRIZ,
Yes. Continuous improvement is focused on improving the product so the Scrum Master
should use it to help the team flow.

Q) A2, FEAFENETIFEBUASFNEIGIR, BEAELEER.
No. Continuous improvement items should go on a continuous improvement backlog and
roadblocks do not belong there.

D) 72. BRIESYIZRScrum MasterSeHIESS, MIFEHUANIEHDeveloperssenk.
No. Removing roadblocks is a task that is done by the Scrum Master and continuous
improvement is done by the Developers.

A) IEH. BREBESEEME. FEEUHEEEMREN TN, HMmATsEsiH~m. (EHmER
FERBUHRERMBR. (OBt A, 587.58)
Correct. Roadblocks that are removed increase flow. Continuous improvement is mostly
optimizing the processes and way of working, which in turn may improve the product.
Increasing flow is the result and goal of continuous improvement. (Literature: A, Chapter 7.5)

B) HiR. BA_EERE, (BFESUHNERFANZSHm,
Incorrect. Although there is overlap, continuous improvement is not focused on the
improvement of the product.

0) iR, BEELESEREES IFERE, SERERANET - RENEIFIER. BEMtEN SR
ROJ LA SRR R B,
Incorrect. There is overlap between continuous improvement and removing roadblocks. The
improvement items should not go on a product backlog. A continuous improvement backlog
is a better place to collect continuous improvement items.

D) iR, FHEMUHSERRIEISZIAFERLE. Scrum Mastera] LURBIBUARIZRIHS, FS5Developers
—RRH TR,
Incorrect. There is overlap between continuous improvement and removing roadblocks. The
Scrum Master can identify opportunities to improve flow and do continuous improvements
alongside the Developers.
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W EFROTLIGEATEZ, Ft, RAiTHrEEBI T ERIET I Ecrt, LaE I BT 75 & ofaT
/8],

DA B A mmBe AR — AP EETIA?

Business requirements can change at any time, so by doing only the necessary work for the
required step to be considered complete, the project team saves efforts and time.

Which Agile methodology is best represented by this statement?

A) SEFZFHAKT5LE (DSDM)
DSDM

B) &
Kanban

C) K#tEScrum (LeSS)
LeSS

D) KHUERBUENELE (SAFe)
SAFe

A) IEffy, DSDM (REURWSERER) HizNES T ERAWUTRONIIEE, AR TSI, HER
W EMEBARMEX—RYE, (Ot A, HIRA)
Correct. DSDM (now Agile Business Consortium) dictates that only the minimum work will be
done in every step, to move forward to the next item, with a mindset that continuous change
is a natural part of projects. (Literature: A, Appendix A)

B) &R, ERSRITIEIRTIAAIRSIESGR (WIP)
Incorrect. Kanban is about visualization of work and limiting work-in-progress (WiP).

C) &R, LeSSEAMMEScrum (Large-Scaled Scrum) R4S, XMUTRERTE M EAERFA—
FrmEIRS IR,
Incorrect. LeSS stands for Large-Scaled Scrum and is a methodology that can be applied when
multiple teams are working together on one product or service that is being developed.

D) $HiR. SAFei REINIMISHERRIL. ATIMICAHIRREIESIm (WiP) , LARDTURK,
Incorrect. SAFe is about scaling agile beyond a team, visualizing and limiting work-in-progress
(WiP) and decentralizing decision-making.
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AishaflfB{EF— Scrum Master, TERRIEAE, MEIREIFR PRI RAT S HBIERI 327
fm. Aishal R EEX 2E ABARIEIRZAABRIRI A UISEH1 TiTE.

AishaRiZ EAM?

Aisha is a Scrum Master. During a sprint, she realizes the team will not deliver a potentially
shippable product at the end of this sprint. Aisha suspects that this is because the team
does not review all of the code before it gets checked in.

What should Aisha do?

A)
B)
0

D)

A)

B)

9]

D)

B R R A S KEGE R0 PRIAIIFRT

Ask the Product Owner for permission to cancel the current sprint
EREPBAD T F—NRIFTLASEZ &

Ask the team to analyze what can be done better the next sprint
ERBPAEIRSZ A B Z BITTAkiT R

Demand that the team reviews all code before it gets checked in
SE PRI EIHALASZAS BT 32 Y= m

Extend the sprint length in order to deliver the shippable product

Hix. BUHRRI+2D, (REHRIBARIRES, FRASAZSBEAR].

Incorrect. It is very uncommon to cancel a sprint. The Product Owner will only cancel a sprint
when the sprint goal becomes obsolete.

IEffs, BIBER LR HIRREERAYT 5%, (Ot A, 555.88)

Correct. Looking back is a good way of preventing the same issue in the future. (Literature: A,
Chapter 5.8)

HiR, Scrum Master AW ERXEH., BIARRREGEEM. Scrum MasteraJ 5 HIIAAXIGE—
FER.

Incorrect. The Scrum Master should not demand this. The team members are autonomous.
The Scrum Master could point out that she feels this would be a good idea.

faiR, IERTRIFRIEETN, HRIFEE, REBEEAE. Sn0HRIEAAR SRR TIFRRE R
FDSEING IR LSRR EARFKIRY,

Incorrect. Extending the sprint length is very uncommon. Once a sprint begins, its duration is
fixed. Instead, unfinished work from the current sprint should be moved back on the product
backlog or forward to a future sprint.
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HHEBARIFF AmEScrumigsy, XE—NMRARER. Famisi ABEScrumBA TIEIEH.,
DevelopersffScrum>E£fa4, Scrum MasteriE2 7 —HIERIE, BLWER. IE, FNE
—BMEZEAEREINE.

FRA A RIESS ScrumiEZRB9 S,
ERRIX S AR

A new team is just starting to transition to Scrum. This is a pilot team. The Product Owner
has worked in a Scrum team before. The Developers are completely new to Scrum. The
Scrum Master has had some formal training, but limited experience. For now, they have a
project manager to oversee the project.

The team must be trained in the Scrum framework.
Who is accountable for making sure this happens?

A) Developers

The Developers
B) ~mARA

The Product Owner
C) mMEEHE

The project manager
D) Scrum Master

The Scrum Master

A) #EiR. REDevelopersEEFIRIANRERZ, {BScrum MasterdiiRXM4ERERR.
Incorrect. Although the Developers have most to learn, the Scrum Master is accountable for
making sure this happens.

B) (HiR. REFMASZATREEEETLUER, {BScrum MasterfIfRX S RERE.
Incorrect. Although the Product Owner may have some wisdom to impart, the Scrum Master is
accountable for making sure this happens.

C) EiR. MBAZKEARTScrumbENAE, BEXE—NESEN, MEZENERLENTE, ik
fttfiJE BB,
Incorrect. The project manager is not a defined role within Scrum. Even if this is a hybrid team,
the project manager should give the team space to figure this out on their own.

D) IEf, REDevelopersEZFININIRGES, B RASRATREEEILUER, BScrum Masterxd
BRIXHERERR, (XEk: A, 55.65)
Correct. Even though the Developers have most to learn, and the Product Owner may have
wisdom to impart, the Scrum Master is accountable for making sure this happens. (Literature:
A, Chapter 5.6)
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P ESSFNERE/ETFScrum Master?

Which tasks and responsibilities belong to the Scrum Master?

A) Scrum MasterfaZRiHEEARIAEVE, FEREE)ISHSIBER TB-RASRA, LMEFRRR
AFTLASREUE ST,
The Scrum Master assesses the maturity of the team and informs the Product Owner in case
training or coaching are necessary, so the Product Owner can act appropriately.

B) Scrur; Masterfa SR BN ZRFEWGAIMELIIE, (BRI TEBYIRFMESHIHE, BEFAMKRR
AR EIME
The Scrum Master helps to arrange meetings and coordinate work, helps with tracking
progress of tasks with the aid of visual tools and helps team members overcome difficulties.

C) Scrum MasterASRIRERmiFNEIFIR, BRFRASRANATEnEE TH#HEXEE AR
F. (LAERFMNE,
The Scrum Master keeps track of the product backlog and makes sure the Product Owner and
the Developers clearly understand the items and their order, priority, and value.

D) Scrum MastertazsE#Developers, HEEGRHAS EIFHRMNSEES, LMERBEAAREBEET
RTEIERNESS .
The Scrum Master manages the Developers and reviews and allocates tasks at the daily scrum
meeting so that all team members can maintain focus on the tasks committed to.

A) 38R, Scrum MasterMiZAWTIHEEIARIRRRVE, FEVERHSENAZIESHINAE, XIHES
ARERE RARASEMTRA. BRI mASRASRE —FMEFEEHIEEE, XARERAIME.
Incorrect. The Scrum Master should constantly assess the maturity of the team and should
coach the team where necessary to higher levels of maturity. This could include the Product
Owner or other stakeholders. Informing the Product Owner implies a command-and-control
structure which is not Agile.

B) IEffs, Scrum Master@—MigEE. THEE, HEHH5ISIM. (CLEk: A, 555.645)
Correct. The Scrum Master is an enabler, a change agent, a coach, and a facilitator. (Literature:
A, Chapter 5.6.4)

O iR, FRHNSEIYIRELNFEEERRARARERE. Scrum Mastera] LIFSBiDevelopersi2f#
1H*%H, {BScrum MasterHAEIEF~MIFNEITIE.
Incorrect. The items on the Product Backlog are primarily the responsibility of the Product
Owner. The Scrum Master may help the Developers understand the items, but the Scrum
Master does not manage the Product Backlog.

D) $&iR. ScrumEFEBARBEERHR, Scrum MasterH A& DeveloperstfiRE. Scrum MasterRE4&
B XEWE—FPSEEHIBEn, NESTEIME.
Incorrect. A Scrum team is a self-managing team, and the Scrum Master does not make
decisions on behalf of the Developers. A Scrum Master is not a manager: this would imply a
command-and-control structure which is not Agile.
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NazZE— Azl BRIScrumBBAE{EScrum Master, iSO FASTEMESIRITEFA—
AN AR, XRNAREFE—IEAN—8D, SEMFREXREBAREKR, HP/lr-mea
£, BIVFIBEFAS.

BENazsh, XMEBEREERIScrumBEIAA R 72 K T2 B RAEA. FRASARNHFE.

ScrumEFBA—E&{FEHEAE. ENazEEE, SRMMEEFEIEHEN, AREERLE300, &L
SrrmiEiAieScrumik ERIRE, BRI REIRIK RAEEANTIE; BARREREERIR
EFFEZRIREEE CRIEEF SRR,

Scrum MasterfiZ EA MR EXFIE R ?

Naz is the Scrum Master for a Scrum team that has been established for four months. They
work on the development of an application for walkers and hikers. The application is part of
a suite and has links and dependencies to other products, some of which are already on the
market and some of which are still in development.

Besides Naz, the cross-functional Scrum team is made up of seven Developers and the
Product Owner. The Product Owner is quite new to the role.

The Scrum team has been working quite well together. However, Naz notices that the daily
scrum is overrunning on a regular basis, sometimes taking up to 30 minutes. There is
discussion with the Product Owner about items on the board, sometimes involving
questions and discussions around the dependencies; and team members like to get a good
understanding and a resolution to their questions before moving to the next item on the
board.

What should the Scrum Master do to improve this situation?

A) BITICIEEREA "BSKBTA" | "HIEREETHARR" | LUK "BREBEREE"

Limit the discussion to ‘What | am working on today’ ; What | achieved yesterday’ ; and
‘Are there impediments’

B) ANREXE—NMEESFTMAIAEScrumBEBA, XIS EE3055 FhRTIE)
Recognize that this is a large Scrum team with complicated issues and allocate 30 minutes for
this meeting

C) BRWopmERD, WIRSHEMMmAEERKIKRNEE
Split the meeting into two to work on the items which have complicated dependencies on
other products

D) FILRN, EREHSENEN T #ER ISR
Stop the meeting and take time to coach the whole team on the purpose and the format of
the daily scrum

BEART , #BT—1
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HiR, REXLEAILRIERFER, semkaRNiE, B NRUNXHEESRMSNETT
fE. A—EERIX=NERE, BALAEEESEMNERXAE-,

Incorrect. Although these questions are good to answer and can provide useful insights, it was
misconstrued by many that this is all that is done at the daily scrum. It is not required to ask
these three questions, and it is also fine to ask other questions which are more relevant for
the team.

HiR, ScumBEIAAREBIZ10A, FTLAXMOABMEREZ A, AEINE D BRI EFH A EERRREE.
Incorrect. A Scrum team of ten or fewer is advisable, so this team of nine is within limits.
Allocating more time for this meeting is not addressing the problem.

Hix. HENEEIEERRITHARTTARI TIERUCEBAMMERISEN, THI T, FIUURRT
fE. IFRORWEDEER, EREERWNZEANKR EFEERANEZIIMELLF.

Incorrect. The intent is to optimize team collaboration and performance by inspecting the
work done since the start of the sprint, to plan work, and to do some forecasting on the work
that remains. Splitting the meeting would split the focus and would mean more work to
collaborate on the links between meetings.

I, BHEREE1SOMRIRERRE, BRZeERBEFHEREER. SRESTEHRAETH
TSN, BRNERSHERM,. KKK, PUFIER. BEBRT, U ESIRIE
i, {BUNRAEIRE, HIERXIERERR T — S AR BE TR —ERo.  (SX@t: A, 588.1
)

Correct. The daily scrum is timeboxed to 15 minutes and is intended to inspect progress
towards the sprint goal. The daily scrum is not a detailed planning meeting and it focuses on
identifying issues, dependencies, challenges, and problems. Often it is possible to immediately
define an appropriate response, but if that is not possible, formulating the response becomes
part of the daily work of one or more of the team members. (Literature: A, Chapter 8.1)
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HScrumBPANEAESHKITERMUCBELE. ZBRN THEXBELLRF. ARIIEEREFREY
2T, MEIIRINGEENEWAR, BENSTICECHES. MEAMERE, MIIFRSENE
SnEEIB b ATRE). EIREIAREEIRREXIEHIXFREIR.

Developerstgt 7LA TRRTTZ:
IR RNETFE LB ERBE, LICRESTESHEIER

FRRRARE T — e A EERSE:
-FUFENSE, LSRR, NEEWERER O ERE

Scrum MasterE RN BEAIRR TS =
-BINGR, SEEHERS (WIiP-limit) FOBlocker Ticket
-BINScrumtg, AEIEWIP-limitaBlocker Ticket, B2 FIEfR

Bp—Fh TR &I SE#EENEARL?

A Scrum team is looking for a way to optimize their daily work. The team has a chaotic style
of working. They often take on too much work individually. They are highly trained
professionals, but sometimes tasks get forgotten. If an issue is identified, they do not
always know how to ask others to come and help them. The management team wants the
team to get some grip on the situation.

The Developers propose the following solution:
- A dedicated channel in their social networking platform to keep track of blocks and task
division

The Product Owner proposes an entirely different solution:
- A Gantt chart that can be monitored online and is understood well by the management
team

Their Scrum Master has two other possible solutions:

- A Kanban board, that includes work-in-progress limits (WiP-limits) and blocker tickets
- A Scrum board, that does not include WiP-limits or blocker tickets but is easy to
understand

Which tool is most likely to help this team?

A) THEBEE

The dedicated channel
B) HH%E

The Gantt chart

C) FiRik
The Kanban board

D) Scrumtfx
The Scrum board

BEART , #BT—1
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A) EIR, BATAEENREREDevelopersfUiRN, EIXMNENTTEFREPAGHEMRFR, Scrum Master

B)

9]

ROZBEBHANIREIX—mR, FRIREIARR, MEIARRSTERERIEZE.

Incorrect. Although a dedicated channel might be the proposal of the Developers, it will not
address any of the needs of the team. A Scrum Master should be able to recognize this and
convince the team members that their solution is not the best solution.

Hix. BAEFETLILEEFAWSEHE, B EFRENNER, W, SEFANSETEFEE
NBERIR EREUER.

Incorrect. Although this chart could make the management team happy, it would not solve
the problem of the team. In addition, the management team could most likely learn to get
information from the Kanban board as well.

IEffs. NBERIR ET AN+ AES. WIP-limitiS#5 B FIBAA Ridk st B iFRId 2 T1E.
Blocker Ticket{$iREEE AR RFAERIAM, MABEBAZISTHREY. XMERSTEZXHE
PHIRETE, (OBt A, $108)

Correct. The Kanban board will provide overview of who is doing what task. The WiP-limits will
help the team not take on too much work individually. The blocker tickets will signal the other
team members to a problem, without anyone having to ask for help. This solution is the best
tool for this team. (Literature: A, Chapter 10)

D) $HiR. ScrumiRFTEMBRIXNMEPARIIETR R, XEZ1ER, EENBAILIBRIERR, RI#MPEER

K. ERIREHERXNERRIFFE .

Incorrect. The Scrum board cannot address all the needs of this team. It is simple to
understand, but this team can also work with a Kanban board, which is not much more
difficult to work with. The Kanban board will address all of this team’ s challenges.
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fEhRIEAE), FDeveloper MEMHMIEAETT RRIBFNE, XEMEKRIIRIEERES,

Scrum MasterRiZ ERHA BELL DeveloperfEfig £ RN TE?

During a sprint, a Developer does not understand the user story he is working on. This is a
potential roadblock for the success of the project.

What should the Scrum Master do to enable the Developer to work at capacity?

A) itDeveloperZB&IXNiNE, HHNERZASEE T RENIEIYIER
Ask the Developer to ignore the story and put it on the product backlog until the team
understands it

B) itDeveloperfgEBSEHADITHIARX MNRFEEE, LSRR
Ask the Developer to spend more time analyzing and researching the user story to help
understand it

O IFmARAERXITAFSNSE, AREERRSHDeveloperiEfi#
Ask the Product Owner to explain the user story and find a resource to help the Developer
understand it

D) i RARABBFHEERIINTREDEIGIR, FHTENNS
Ask the Product Owner to put the user story back on the product backlog and improve and
rewrite it

A) IR, XTMHERPRIF—EBD, NAEXNPRINZZM.
Incorrect. This story is a part of the sprint and should be delivered for this sprint.

B) $&%iR. iXXfDeveloper®G#E), RMAAESNRIRES,

Incorrect. This is not helpful for the Developer and probably makes the roadblock worse.

C) IEff§. Scrum MasterXH{RAPEISIERRAE. AEABIF, I mASRAHTIER, FHEIERRHEE
BEMNMFDE. OBk A, 587.58)

Correct. The Scrum Master is accountable for causing the removal of roadblocks. In this case
asking explanation from the Product Owner and finding a resource to help with this
explanation is a good way to do that. (Literature: A, Chapter 7.5)

D) #&iR. FEARAFNIZERAFHSEENRIINTRADSEIYIR. B, RENEBETENNS, Bl
BEEPRIEET. FmRASRANZBERE—BAFE, "AJLARScrum MasterEEaE HiZH
Developer[&##E,

Incorrect. The Product Owner should not put the user story back on the product backlog.
There is no time to improve and rewrite it, as it is now part of the sprint. Instead, the Product
Owner should explain the user story again, either to the Scrum Master or directly to the
Developer.
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AR IE7ERBHISCREEEScrumsEi., Scrum MasterREMRERTIIIEE . EWINEE .

Scrum Master S+ ABHEIX?

A team is resisting implementing Agile Scrum practices. The Scrum Master has decided to
identify the type of resistance: passive or active.

Why should the Scrum Master identify this?

A)

B)

9]

D)

A)

B)

9]

D)

EAv/RSEt BRI THSEHITIR, 7RI ERScrum TIE

Because a comparison with peer anecdotes from other teams on how Scrum they work with
Scrum must be done

E e AR ENE AR B Scrum Masterff AN ST thiESEI

Because identifying the type of resistance will help the Scrum Master identify how to best
coach the team

E /R LAREBScrum Masteritll—RScrumZ4%) IR, IBFASHRINE

Because it helps the Scrum Master plan a training session on the Scrum events to reinforce
the value of the events

ENEETREE LS 7 HRIBR, REBIIE) ISREFTEEE DR,

Because the team may have lost sight of the sprint goal and may need training to get
realigned to the sprint

%ﬁirs;'eo %ﬂﬁ%ﬂa‘%&%‘éﬁ!ﬁ’ﬂﬂﬂﬁﬁﬂ, HINCohntRELRATIARY "INEEIEE" . BEAMIF, FBHAISE
BiERBE.

Incorrect. This may work for some types of resistance, such as the ‘sceptics’ that are
described in Cohn’ s model. In this case, however, the type of resistance is not clear yet.

IEffs, HAERRHIAYZRELEILEScrum MasterBEfBiEUIE b RXFF T AL A RIFHAESERA. (X
mh: A, 313.55)

Correct. Identifying the type of resistance will enable the Scrum Master to determine how to
deal with the behavior, and how best to coach the team. (Literature: A, Chapter 13.5)

iR, HANBZEEAEAA 7 HEScrumEBEAIN{E. Scrum MasterRIZFTIAVERIR, REBITHRILEE)
3

Incorrect. It is not clear if the team does not understand the value of the events. The Scrum
Master should first correctly identify the issue, before planning a training session.

HiR, WIREBABER T MRIBiR, XEEAIRESBEHE, (BNRXFAIFREE, XEERTRERINEIRRT.
Incorrect. This may be helpful if the team has lost sight of the sprint goal, but if this is not the
real issue then this is likely to cause further resistance.
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SusanfERAAFNE{EScrum Master, iR EDeveloper, {EEEE{EScrum Masterfats, ithHd
B\ EIFRYF, RESHERERNFISEETEL .

B2, BT LA, FAEZSRLTRIBIEIGIEZSARIES. DevelopersiR/DXIMITFARAYFME T
. RS L, EAEMABlocker Ticket/zBRIX—EIEAIEhAIRE. HBARRIRIES BRUREER
([ 5= R WE VA E SIE S-S =

fEEHEeE, SusanFE|—"Developen iR ¥ IEAEAMEAI—MEIGESS. XNE—MEERDISN
IHIMERY T ARERRIRERS. BIAFIRBEMARMHSE, BSusantRiELIRIRILIATEIMA R A

=138
SusanRAZEAM?

Susan is a Scrum Master in a big company. Susan was previously a Developer but
volunteered for the Scrum Master role. Her team works well together and has a good grasp
of Agile principles and the Agile ways of working.

However, the team is under quite some pressure in their current sprint due to some
problems. The Developers lack detailed knowledge of the testing environment. The team
uses blocker tickets to reflect this problem and other issues during the daily scrum. Team
members select their next backlog item to work on according to their skills and
preferences.

During the daily scrum Susan sees that a Developer reports an impediment on the ticket he
is working on. This is again an impediment due to the lack of understanding of the testing
environment. No one else in the team offers help, but Susan knows how to solve this
problem from her previous experience.

What should Susan do?

A) NEINZHF—XERRIEI, =BT XTI SR T %
Arrange a short training session for the team to improve their knowledge of the testing
environment

B) BRIAREEHIX"Developer, FiHIL SRR
Go to the Developer after the daily scrum and use her experience to show him how to solve
the problem

C) 3zRPADevelopersRniElfBRIXNMa @, MMHEEESHIFIRDE
Quickly show the Developers how to solve this problem, thereby coaching them and sharing
knowledge

BEAR , EF-X
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A) IFff, SusaniRiFAEEDeveloperAt: WHABNIZEHNZ. IESR. 3I1SIMfMPALTS.

B)

9]

Scrum MasterFIBHEZRIAE, FEECHIScrumALR, FBEIFIKHSRESR, S8tERERUF0
Scrum7giEF AN B FFERNBEMER. (OEt: A, 5$5.648)

Correct. Susan should preferably not be a Developer: her role instead is to coach, guide,
facilitate and lead by serving. In her role as coach, the Scrum Master, by virtue of their
experience with Scrum, helps the team to figure out the best way to apply agile principles and
Scrum methods and techniques to their specific context and situation. (Literature: A, Chapter
5.6.4)

fix. XMHSERBER I — 1 Developer, FARBMERAE AR, SHEFNBESZERALRE
In<°:orrect. This will help one Developer through coaching but will not spread the knowledge
through the team. Agile teams are made up of multi-disciplined individuals.

Hix. SusaniRFAENiEDeveloperBE: WHABNIZEHSG. ESRA. 5I1SIMFMMIAMS. X
RERIRTTER, BIAFAREIEEAARREE, mMEScrum MasterfWERRRET 20,

Incorrect. Susan should preferably not act as a Developer: her role instead is to coach, guide,
facilitate and lead by serving. By presenting a solution, the team does not get to understand
how to solve the problem; and the role of the Scrum Master is compromised.
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EATMEZNScrumBIBA, FRIIBEZE TR ERNREIIR, ANZBORETFRE
8, KK REMAR.

PNENEE T BNMEFDBIFIR. BANFFRASRAUREZAScrumBBA. 84 ScrumZBAS ESJ 1
Developersf1&BEHIScrum Master,

BBNScrumf B RIES A T/F?

A company is working with several Scrum teams to make sure they can keep the deadlines
their customers require. These teams must make sure that their efforts are not duplicated,
that dependencies are visible and clear.

The company has opted for a single backlog, a single Product Owner, and multiple Scrum
Teams. Each Scrum team has several Developers and their own Scrum Master.

Which Scrum role is best placed to coordinate the efforts?

A) Developers, FAZAEEKREEE, ROZBEE NV

The Developers because the teams are self-managing and should be able to coordinate
B) mmfaskA, BEArFrmARABRRIMEFmEFIEIRFIR

The Product Owner because the Product Owner coordinates the product backlog as well

C) Scrum Master, EAMB(IIBATEISEMtEScrum MastertiiE
The Scrum Masters because they have time to coordinate with the other Scrum Masters

A) iR, BXENEEEEE, BETERXN T mR B ANMABIES. FRmASRARKR T #REr-
RFDEIFIRS B URKIRKR,
Incorrect. Although teams are self-managing, coordination is a task that the single Product
Owner should pick up. The Product Owner has overview over all product backlog items and
therefore over the dependencies.

B) IEf. fEScrumA, FmAs ANMIDEZNEMRIIIE. (OZE: A, 585.65)
Correct. Within Scrum, the Product Owner should coordinate the efforts of multiple teams.
(Literature: A, Chapter 5.6)

C) iR, REScrum MasterGRHaHTINE, (EF-RARARAE 7 R EIGIZRS B AR KSR
Incorrect. Although the Scrum Masters have time to coordinate, the Product Owner has better
overview over the product backlog items and therefore the dependencies.
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REASRIEFFARAScrum TIESE. [RICAISIEEIRERAMAImAEA.

Py
ERRZE, FmASAIRT AR OEES. ARERIEIEZS, PR AGERILE,
TR BIXFMEEIEEB M. DevelopersBAMAMEES TIXHE, EEHFREITIC,

AR AR BMNIZRE S EES?

A team has recently started working with Scrum. Their former manager is now acting as the
Product Owner of the team.

Before the transition, the Product Owner was used to dividing the tasks over the team
members. The Product Owner keeps doing this after the transition to Agile, because it
worked so well before the transition. The Developers are just accepting this, without even
discussing the matter.

Should the Product Owner keep dividing the tasks?

A) B, FARrma B ARERISREMLENZHKTe, ERIETTHK.
Yes, because the Product Owner is best placed to determine what must be done and by
whom.

B) B BEAEEREZA, BMETmRAskADEES TEUS TRIFAIRER,
Yes, because the team has had great results with this person dividing tasks before the
transition.

O A2, EAEScrumd, HBAKWRBDevelopersAgEnBELES.
No, because the Developers are the only persons in the team that may divide the tasks in
Scrum.

D) &2, EABEMERTICHMESDEHURESHEA.
No, because the team has not discussed what the best way of dividing the tasks is for this
team.

BERT , BT -1
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B)

9]

D)

=%IN

iR, RETNCHABRERNIZITIE, FNERERE] Scrum BIRVIRGIERILARY, F Rk AFJEE
EBAREARR D EIESHIREAILL,

Incorrect. Just because there has been no discussion, does not mean there should not have
been a discussion and it is ok to just keep doing what the team was doing before the
transition to Scrum. The Product Owner may or may not be the best person to divide the
tasks.

Hix, REBHSEMEA, Developers IS EESIXUEEERZITIC. BNRBERELE ZAAIR
fl, =5, BRemiTietAaXdBe&E.

Incorrect. The way the scenario is presented, there was not even a discussion about how the
tasks should be divided over the Developers. The team just kept doing whatever they were
doing before the transition. At the very least, the team must have a discussion what works
best for them.

Hiz. BEBERT, Developers & Scrum FHEESIIREALE, EAXETLULEII TR, B
=, NIRB—MIELREESH, RV LEPFTLIBHERE, FRARARMIZSESEHES, B
EHEXHERZMIE, MARE Developers A8 E(ES.

Incorrect. Usually the Developers are the best persons to divide the tasks in Scrum, because
that makes them commit. However, the team is in principle free to decide on another way of
working if that suits the team better. The Product Owner should not keep dividing tasks, but
the reason is that there was no discussion, not that the Developers are the only persons that
may divide tasks.

IEff, 7E368YE! Scrum BY, BIBARGZITIEHEESHIRIEST. BEBR T, = Developers H2HL
BYESSRS, BBNRITIRREE, FAXEFTLMERRE. (@ A, 556 )

Correct. When transitioning to Scrum, the team should discuss the best way for them to divide
the tasks. Usually, the team works best when the Developers pull the tasks themselves,
because this fosters commitment. (Literature: A, Chapter 5.6)
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ScrumA A EEE ARSI RIERIS R SMBEERRSRHIITX S . IMREYSIHRI B iRrH

=

Hep— Mo B TSI ERE RS,

B— e ERR?

The separate roles in Scrum are accountable and responsible for different things. One of
the roles is accountable for adapting the plan, and way of work, as and when needed, to
ensure that progress is made toward the sprint goal.

Which role is accountable?

A)
B)

9]

A)

B)

9]

Developers

The Developers
FmiAEA

The Product Owner
Scrum Master

The Scrum Master

IEffs, X=ZDevelopersi9zft, EAMEIIRTIERITA. (OLEk: A, 555.6.28)

Correct. This is an accountability of the Developers, because they are the ones doing the work.
(Literature: A, Chapter 5.6.2)

HNR, FERAEANHEE T RBERfE, Developersths=iuR TIEISER, LABE bkl BARA0HERE.
Incorrect. The Product Owner is accountable for creating a product goal. The Developers are
responsible for making sure work gets done to make progress toward the sprint goal.

Hiz. Scrum MasterXdFREIAEFIFEENITIESAE, MARHRBUS R BRHE.
Incorrect. The Scrum Master is accountable for making sure the team re-evaluates the way the
team is working, not for making sure there is progress toward the sprint goal.
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FScrumBIAEPRIH RIS EEIRRA T 5eRRIENX (DoD) . RIS L, BEAEET
FNEMFIRFERMME, FHET ITRIGDEIIE.

RSN £, BBAAHAFEEDoD?

A Scrum team uses the definition of done (DoD) for the first time during the sprint planning
meeting. In the sprint planning meeting, the team estimates the size of the backlog items
and creates the sprint backlog.

Why does the team need the DoD during the sprint planning meeting?
A) EABMEETRINTRE, BNERREEME

Because each feature is checked for readiness as soon it is finished in the sprint
B) EAFmARAGASDEIYIRFEREHEER

Because the Product Owner must confirm that backlog items fit the requirements
C) EEAERA I R B Y B FE AT 5210722

Because the team must accept the sprint goal as a potentially shippable product
D) EAT{FERATHHEFDoDAIERK

Because the workload depends on requirements of both the features and the DoD

A) iR, XEDoDRIERBR, BXAEEHRRITHIEN E5E.
Incorrect. This is something the DoD is used for, but this is not done during the sprint
planning meeting.

B) #Hix. REFMARANZIATHEIFIREZEFEEZFNEK, MEDoDALRMMEIR—R, B
XEBEAREPRTISW E5enk.
Incorrect. Although the Product Owner should confirm that the backlog items fit the
requirements of the customer, and the DoD could help do this, this is not usually done during
the sprint planning meeting.

0) iR, BATRBENEREREEURMEE, EDoDHAEARTEFRIBIR.
Incorrect. The DoD is not used to evaluate the sprint goal, although the sprint goal usually is a
potentially shippable increment.

D) IFffs. TIFEBUAT—IUFERIFREERK, &iEDoD, (X#t: A, 55.7F)
Correct. The workload depends on all the requirements for a feature and this includes the
DoD. (Literature: A, Chapter 5.7)
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RremRARANTRFFDRIYIRRS T LTRSS

TE98HERAR, BB REREEESFHIRE, X ATUIREDL T,
XA SERSRE T RN PRGBSI RMGENERMSE?
A Product Owner writes the following user story for the product backlog:

As a data entry clerk, | want a good user interface for the administration of customer
invoices, so that | can work fast.

Does this user story provide the necessary specific information to be pulled into a sprint
backlog?

A) 2, AAEHRIEERLIRINEZER.

Yes, because additional information can be added during a sprint.
B) 2, EAECERETHEFIHRAFHSEER.

Yes, because it follows the recommended template of a user story.
Q) 72, AARAFPEENSHABER,

No, because the identity of the type of user is not specific enough.
D) A2, EXN "FH" 1 "RE" X MNEIAEER,

No, because the terms ‘good’ and ‘fast’ are not specific enough.

A) iR, B, EHRIEEEILURINEZ(ER. ZDevelopersGialiiit, aILATEHRIBAEIRINESR. B
2 " & "RET FREBERGIERFEERNTRIFD SIS IRIFMERA.
Incorrect. Sometimes, additional information can be added during a sprint. When the
Developers have questions, the answers can be added during a sprint. However, quality
requirements such as ‘good’ or ‘fast’ must be specified before the user story is pulled in
a sprint backlog.

B) {#iR. AFMEBEEEEUTER: (FA<TFRARE>, REE<FERIRE>, LME<FEKRNEE
>, REEMEREETUERITN. APIPRBFPSEERT LiAER, B —LABRAEE, &
B BRNRRIFFDEIF IR Z RIS ANLAEA,
Incorrect. User stories usually follow the template: As a, | want to, so that, although other
templates are possible and allowed. This user story follows the template but has some non-
specific terms which should be clarified before pulling the item in a sprint backlog.

9] ‘f‘gis;e'o RBYEH—PRIPAFRXEE, BREAFERMRME. "FRY A RET X NELFA
iR,
Incorrect. There is no need to specify the type of user further. The username does not need to
be specific. The terms 'good' and 'fast’ must be specified further.

D) IEffs, FrmfFdEIFIR ERTLBIN RSO SING IRABASESEL/REREIA, IFThEEERUIE
MEIR, XHEAREAENERY, BRIFEREEFEE, (X A, $6.11F)
Correct. User stories on the product backlog that can be pulled into a sprint backlog must be
specific. The non-functional requirements must be specific, so that the story points can be
estimated and to ensure that the feature matches the customer expectations. (Literature: A,
Chapter 6.11)
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Scrum MasterfIF=RAR B ALEEDT— NI RFNDEIFIER. Scrum MasterFE2EI, 7P=aRF
DEIGIRPE—LHRFMAINEE, BN, —EUERRENZBERIANEF, 5—LEU
JANSEIEF. MREASHZENTERIANEF, EiFAIEEIFH.

PRSI BRI IR RS MIZ AR ?

The Scrum Master and Product Owner are analyzing a new product backlog. The Scrum
Master notices that the product backlog has some very detailed stories that have lower
priority. Some lower-priority items are not grouped into epics, others are. The high-priority
items, on the other hand, are not grouped into epics at all and are all very detailed.

Is that the way the product backlog should be refined?

A) 2, EANERENEBBRNEEN— N TRIGDSEIFIE,

Yes, because the high-priority items will be pulled into one of the next sprint backlogs.
B) 2, EMHIIRAEF S se MR B ABUHA,

Yes, because user stories of any priority may be very detailed or described generally.
Q) 72, AAMERSNFERNFMELR, LISIFREINEIL,

No, because high-priority items should not be detailed to allow unexpected changes.
D) &2, FENSEREETER, MA—ErPR Bir.

No, because stories should always belong to an epic to form a coherent sprint goal.

A) FH. REBENRE, FofDEIYIRIENAFSENERS. MAFAEAANLE. WRREM
SeEEEMIFAEL, Wx2REE, RAFRADSIFIREGFNNRN: EBEFIEREG
WHINFRAFDEIFIR, MR —EMERBATEESETFARF, BPOLMB. (K@l A, 5$6.7F)
Correct. It is most important that the user stories at the top of the product backlog are high-
priority, detailed, and not grouped into epics. If not all items are as detailed, that is perfectly
fine, because the product backlog is emergent: new requirements will find their way into the
product backlog during the project. If some low-priority stories do not fit with an epic, that is
fine as well. (Literature: A, Chapter 6.7)

B) J%i)a'“s;_igi%%%ﬁﬁﬁﬁ’ﬂ%EELL{%@EJL‘)\Z:%i#HHﬁJ‘?ﬁE’J, BERENFEVRFEAHEA, BAE
ANSEIF.

Incorrect. Although the lower priority items may or may not be detailed, the high-priority
items must be detailed and no longer grouped into epics.

C) iR, BOMRUNIZR N GBI IRFRIFER, REBFENHF. MRkak=EmFENEST
RINHRIGIIEIFIR, ANER,
Incorrect. The unexpected changes should become new requirements in the product backlog
which is then reordered. The highest-priority items should be ready to be pulled into a sprint
backlog and should not change.

D) iR, MAERSHIREARNANSER. REZ, MR SKEMZRRMMANTR], LREEIFH
AREFRINE, BIFASFMEA, BAKINFR,
Incorrect. High-priority items should not be grouped into epics. The reason is that the high-
priority items should be pulled into a sprint soon and must be detailed enough to work on.
Epics are not detailed and are not pulled into a sprint.
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XIS R KERRT?
Organizational goals are related to products and the requirements in the product backlog.
How are these concepts related?

A) BABGRESFmFNEISIREZBNmErR. BRETEHERE, ANEENEANE. ~mE
ERRSEFEEFIREERES.
The organizational goals are product goals that contain the product backlog items. The
organizational goals are regularly refined, to add most value to the company. The product
goals are the stable elements in the organization’ s communication with the customer.

B) HRABRIRERBLNECRENBR. A 7TEIXERR, FoBReIsds— I SEZMERBR. 7
RISFDEIGIRFBEE X 7L~ R BRRAI L.
The organizational goals are the objectives the organization has set for themselves. In order
to achieve them, the product goals must support one or more organizational goals. The
product backlog items define what is necessary to achieve the product goals.

O) FRENEISIERETUAHE—MESESET. BARFEENERER, EAAANE
WAL, SEFRESNERSE T HIIEmIERIXER.
The product backlog items can be consolidated into a single portfolio overview. The
organizational goals support the high-level product goals, as input for the portfolio view.
Senior management uses the portfolio view to help understand how all products are related.

A) $ER. BABMBT@mENR, B2EFEFA—F. BRABNANEERE, FafrhEmFIRSZEZ A
B, FmEmIENARSAE, BEAIESEFEETIRERER.
Incorrect. Organizational goals inform product goals but are not the same. The organizational
goals should not be refined. That should be done with the product backlog items. Product
goals should remain static once established, but they are not the stable element in the
communication with the customer.

B) IEff. UWEZMIATMISRIEEIF-RII—RIiE, RTMEBRBFNBENN—FMFR, SEEELE
m RS, MiTEIRBE ™ML, (L8t A, 556.15)
Correct. This answer describes the cascade of activities from business strategy to products as a
means of achieving organizational goals and objectives. Direction is given top-down, and
action follows bottom-up. (Literature: A, Chapter 6.1)

O HIR. AEUELAFARTH~HNR, BASEERNBRE Gk aa Rt sLIA LAY
flg, MARRIEE,
Incorrect. A portfolio view can help the organization understand the product landscape, but
the intent of portfolio management is to evaluate how effectively the product landscape
enables the organization's strategy, not the other way around.
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H A EERMEE DER ERFIN DRI RIS, BIIATE—NMNATEIEORAR, SIFFEIR
i, F=ERtEAESDevelopers#ShEER.

E RSN ERISEEEIRRGER?

A team struggles to keep the sprint planning meeting within the timebox. They argue about
every small detail and this makes the meeting go late. The Product Owner often argues
with the Developers about the estimation.

Who is accountable for ensuring the conflicts are resolved during this meeting?

A) Developers, EAZMIAITF=mARAEESENAETHFIEH
The Developers, because they allow the Product Owner to drag them into conflicts about the
details
B) AR, FEAMIINIZRATsERSEEERETIIE
The organization, because they should facilitate ways to help the team work together properly
O mmRAxiEA, BArRREA—BEET$DevelopersfyfiE
The Product Owner, because the Product Owner keeps interfering with the Developers’
estimation

D) Scrum Master, EF3Scrum Mastertdi(FRa LN s
The Scrum Master, because the Scrum Master is accountable for ensuring an efficient meeting

A) i8R, Developers2AfY—&s, EAMHRFCEZIERGE. MEFANZEEEER, RRHE
B ARFIREFA, Scrum Masters$TESIHBIENRIFEBALTHRIITIE TR,
Incorrect. The Developers are a part of the problem, but not accountable for ensuring that the
conflicts are resolved. Even if the team is self-managing, and they are all professionals and
grown-ups, the Scrum Master is accountable for keeping the team on track during meetings.

B) iR, AARIHREIAGIRREEHRE, XFEETEEERN.
Incorrect. The organization is not accountable for making sure the team works well together.
That goes against the self-managing principle.

C) iR, FRARARTEN D, ERNHERFICEIMRAZE. Scrum MasterSIFERIHAEIZIRA
RItHiiehEs.
Incorrect. The Product Owner is a part of the problem, but not accountable for ensuring that
the conflicts are resolved. The Scrum Master is accountable for keeping the team on track
during meetings.

D) IEffs, Scrum MasterfgfRATEScrumSBHRIRE, SEREFMNR. EEMH, FEHENEERR,
XEPEEANHRFCEZMREABHNAR. Ol A, 55.64F)
Correct. The Scrum Master ensures that all Scrum events take place and are positive,
productive, and kept within the timebox. This includes an accountability for ensuring this
conflict gets resolved and does not surface again. (Literature: A, Chapter 5.6.4)
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FScrum Master EfEE— M FTAIBIASURAMAE BN E R THE. BANF— 1 EEZRAIMA

N, AMERBEERRIPTRIEA, MXIRMSEISRAPRIZTA. R, HRANIZAEEE

glﬂﬁji, EAXFMEERI G EIRATRIBER, RIEXEFDREISIRF B AN ARIES
LIIER

T EPSESRASRI, AIEEARGEREANEREEEERR?

A Scrum Master is teaching a new team how to estimate using story points. A more
experienced member of the team argues that an estimate in story points would be useful
only for the sprint they are planning and not in upcoming sprints. He argues that they
should estimate in ideal days instead, because those estimates are also useful for upcoming
sprints, even if the backlog item does not end up in the sprint backlog immediately.

Are estimates in ideal days more useful than estimates in story points for upcoming sprints?

A) 2. BEFEEBARGERFIERTIERFEINER.
Yes, because ideal day estimates allow for interruptions of a regular working day.
B) 2 RHEEEABRETAUEERISSFR TIFREL,
Yes, because ideal days are based on the non-changing actual hours of work.
C) 72, RSN ER#EEEEEIEEAREIR.
No, because estimating with story points is usually faster than with ideal days.
D) 72, FIMERELERETHEIIANRIAIER.

No, because story point estimates are based on a relative indication of size.

A) iR, HRABAARRMEETEETX, XEEBABSENABRNREZAL.
Incorrect. Ideal days are not meant to have a buffer in the estimate. This is where they differ
from regular days.

B) $HiR, BAEBARRET SRR TIERYE, (EXAARREEABXSRIEEIRATRIES A,
Incorrect. Although ideal days are based on non-changing actual hours of work, this does not
make them more useful for upcoming sprints.

C) iR, JWTENSERAY DR, AEBABGEENNANERHEEERA. B, RRAARHEREE
BER, MEENIUERZZEERERE LA CAIRE,
Incorrect. Ideal days estimates are less useful than estimates in story points for upcoming
sprints. However, that is not because story points are estimated faster. The reason they are
more useful is because the relative size is robust against changes in the working hours
necessary to estimate the story.

D) IFff. HMERIRIEMEIRTIEEAR. MREANRA, WAMBESHNRERE TN, T—NFR
AEEBABMEREZ N, MEREEE/NERERY, FLET—NRRI, FrEESHILZENS
TRISFEIEERIRER. (OZBA: A, 57.48)

Correct. Story points have a longer shelf life than an estimate in ideal days. An estimate in
ideal days can change for the next sprint if the team's experience with the technology, the
domain, and themselves changes. An estimate in story points is relative in size, so all tasks will
still relate in the same way to one another in the next sprint. (Literature: A, Chapter 7.4)
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REBNEEGEERTER, 7 AT TIFSEEE

-Developers&t 3 M RMHIT AI—257= RFDEINFIZR S B IR T 132 hRIA0ER,
-Scrum Master[BE]E 7 BIJ LA HRIAIEZ, FS T 7L NAREER B EE T — N hRIa0E:,
PR EAER T ER LTGRO,

PAEGES, B— M ARMEEERTI5A?

A team is estimating their velocity. They have done the following to help estimate the
velocity:

- The Developers have made a forecast of the velocity in future sprints for a type of
product backlog items that they have never done before.

- The Scrum Master has looked back on the velocity of the previous sprints and has written
down several historical values that help estimate the velocity in the next sprint.

- The Product Owner has looked up a few industry standards of velocity.

Which of these practices is not a good way to estimate the velocity?

A) T

Making a forecast
B) HSEEE

Using historical values
Q) 1R

Using industry standards

A) BiR. XEROEERRAFE. FAEIIRBHEEEE, BT/ LN RRIEUEERZEARTITHI. £
XEFRIER T, BRARTLATESR,
Incorrect. This is a good practice to estimate velocity. There are times when the team does not
have historical data and it is just not feasible to run a few sprints to observe velocity. In cases
like these, the team can forecast velocity.

B) iR, XRMEBRERTMIF A, AIAME KRB SHIE REBIZ B HTERE, XENEFE
i%.
Incorrect. This is a good practice to estimate velocity. It is a good practice when very little has
changed between an old project and its team and the new project and its team.

C) IFfh. AFEmEEEMTNE, (O A, 510.11EF)
Correct. There is no industry standard to estimate velocity. (Literature: A, Chapter 10.11)
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FEScrumBEIAGREIHE. BR, &IAMIIAREESINIRIER, REESNPRIEBEH AR
AYIEIRETRER T BIE), Scrum MasterfEiRIEIFEIN ESEM—ERE T X MNEE.

Developers R l&/5— N RIFELI T E)RE:
-FEENHRE, BEESSLKITIERES/ 1SS
-EEESERREEEE/ L NNEINER
-EREPAR R AR A EABE A LRI
-FERARA LN BEIHIMAT ’ER(ERER

ER— AR SR ST R B R T sE R E ?

A Scrum team has a history of performing very well. However, recently they have not been
able to meet their sprint goals, despite budgeting time in each sprint for unforeseen issues.
The Scrum Master investigates this issue with the team in a sprint retrospective meeting.

The Developers identify the following problems with the last sprint:

- the team discovers a few impediments to the workflow after each sprint

- sudden requests that cost a few hours are regularly pushed by management

- specialist team members got suddenly pulled from the team to help other teams for days
- the Product Owner had taken a planned two-week vacation in the last month

Which problem is the most likely reason for not meeting the sprint goals?

A) (=58
The impediments
B) ZX
The requests
0 &
The specialists
D) {&HA

The vacation

A) iR, BIAROZIREIREBUARE, HTFENSLINSHRIER, XAKATaERARLH R BARRIR
=,
Incorrect. The team should always find something to improve flow. Since the team met their
sprint goals in the past, this is unlikely to be the reason for not meeting the sprint goals.

B) $HiR, MRIBFATBEEEINERTARESIIN, EABEAEINERTE 7 B E,
Incorrect. It is unlikely that the sprint goals are not being met due to the sudden requests,
because the team budgets time for sudden requests.

C) IEfs, BEXREPALRN—PEIEZEISZ— M EBAEIREER T, XM RIS HIEAREL. AKHILT
[RICHIEIRA, THERBMNSRAIER. XATREREAARSIISRIBANERE. (3#k: A, $7.55)
Correct. When specialist team members are pulled from a team to complement the skills of
other teams, this is highly disruptive. It is a large constraint. Especially if they must leave their
team for days. This is likely the reason the team did not meet their sprint goals. (Literature: A,
Chapter 7.5)

D) $HiR, BBARERIFAERR, XAZSHIELIFRIBR. BTFEAESSINTRIBR, XAKH
BEEARSEILRRI BRRE.

Incorrect. Team members are allowed to take vacations, and this should not lead to not
meeting sprint goals. Since the team met their sprint goals in the past, this is unlikely to be
the reason for not meeting the sprint goals.
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1- PP

2-1%h

34T (3)

4-B5e

SEFIRE 1 (3) " BETREETRHA

A team uses a Kanban board with four columns:

1 — User story

2-Todo
3 - Doing (3)
4 — Done

What is the most likely meaning of the '(3)" in the third column?

A) ZFIRIEFImERE] (WiP-limit) 793,

This column has a work-in-progress limit (WiP-limit) of three.
B) ZzFIB="infERAIESEBlocker Ticket,

This column has three invisible blocked tickets that must be solved.
Q) RBEIZFID A=AMEITIKE.

This column is the only one divided into three separate swimlanes.
D) EIRANE=1TEBAARIN=51 "BHTH" .

This team has three team members and three Doing columns.

A) IEH. WHIRTFRER T —MERR: SMREE—5, "7 JiinnEsmiRE. (OBt A, 58
10.6E)
Correct. This is a perfect example of a Kanban board with the columns for each state and a
WiP-limit stated in the Doing column. (Literature: A, Chapter 10.6)

B) $&ix. Blocker TicketZToieaaA B, EIRANEILEARE, RRfFERBlock,
Incorrect. Blocked tickets should never be made invisible. The team should rally around the
problem and solve the block as soon as possible.

C) EiR. MREWETAEKE, REEFEZEFRESI, MAZN—FIE 0.
Incorrect. If different swimlanes are made, they should extend over all columns and not just be
visible in a single column.

D) #&iR. BRIR LAY "BHTH" FIRNIZIREALR S —7,

Incorrect. The Doing column should not be split per team member on a Kanban board.
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What is the main purpose of a Scrum board?

A)
B)

9]

A)

B)

9]

#5EhDevelopersBTIE, BERRIIEE.

It helps the Developers to organize their work and see how much work is left.
AN RS ARREARIIIE, FHRZECE,

It helps the Product Owner track the team’ s work and report back to managers.
#EhScrum MasteriRERERNDeveloperffilBIESS .

It helps the Scrum Master to keep track of which Developer does which task.

IEf3. ScrumiR@—FEIA TR, HEERIRER ) DevelopersARTIE, (STHk: A, 5
10.2%)

Correct. The Scrum board is a way of visualizing the team’ s work. Its main purpose is to help
the Developers organize their work. (Literature: A, Chapter 10.2)

iR, REScrumiRAILIRSKIRIGEAN TIFA A ERREIER S, BXAIERETERR. HEXZEMR
BXFEANEXREE.

Incorrect. Although the Scrum board can be used to track the team’ s work and create
reports for management, this is not its main purpose. Its main purpose is to support the self-
management of the team.

HiR, REScrumtReILAEScrum MasterFaskiRERDeveloperstTfF, (BIXHIFHEERR. HEE
R SFHERNBHETE,

Incorrect. Although the Scrum board can be used by the Scrum Master to track the work of
the Developers, this is not its main purpose. Its main purpose is to support the self-
management of the team.
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%Sc‘fum@BAIEEﬁH%EEEE%IVE&TE‘Z ERIERE), MAREISN TR

HRIFRTER (CASEREIT)

A& (LAKIT)

KFAR PRI LA E B —I?

A Scrum team is using a burn-down chart to track their progress. During the sprint, the
graph looks like this:

Effort left in sprint (in story points)

Time (in days)

What is certain about this sprint?

A) DevelopersfB9T{E.>-FFHA.
The Developers are doing less than they anticipated.

B) DevelopersIEfEi&ItTXI5em % B iR,
The Developers are on track to finish the sprint goal.

C) Developersi&Z|T—M&EE, BAERIRES.
The Developers have run into a roadblock and are stuck.

BEART , #BT—1
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A) IEfs, BEl, MRFRTFEEL TIXPMERAGEER. XN VFREZFENPRIE,

B)

9]

DevelopersFrff9T{E.>FFEA. (3Z@k: A, FE10.11E)
Correct. Currently, there is more work left in the sprint than was estimated there should be

around this time. This has been a problem almost the entire sprint. The Developers are doing
less work than they anticipated. (Literature: A, Chapter 10.11)

HiR. SFEMEPRFUHARIRTIEE ETRERS. 1XRPRI BIRZE THK.

Incorrect. The line veers off above the expected effort left in the sprint. This is an indication
that the sprint goal is challenged.

iR, ZDevelopersHIEFANEMMEHINGE, BASB TP, SENERIBAETT, FrLAEBA
N P =V s SR S s U

Incorrect. When the Developers would be truly stuck on something, no work would be done.
The last line segments are still downsloping, so the team is not stuck, but they are doing less
than anticipated.
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HHRREEScrumik LEREWRG L. ISIANTESRRES (WiP-limit) BIEES, HAFHRHE
Blocker TicketiRBIBBASHESS ST AYFERS .

Scrum MasterAF D& _ERIPERS BRI a4t EBlocker Ticket, BEIEHIFAMBGEIITFART,
H T LB RERANE, Scrum Masterfirizil{a4bEBlocker Ticket?

A team decides to use Kanban techniques on their scrum board. They have introduced the
concept of work-in-progress limits (WiP-limits) and started using blocker tickets to identify
impediments that prevent a task from being completed.

The Scrum Master is unsure what to do with blocker tickets once an impediment is
removed from the board. It seems wrong to just throw them away.

What should the Scrum Master do with blocker tickets to bring most value to the team?

A) BEHH, WEREHIRBITSEAREMENERER
Group them to see if a common theme emerges that indicates a cause of many issues
B) ARBMBREXNEHTEE, WHREARNRE, LAIEESER
Investigate them for a root cause after the issue is resolved, to prevent further impediments
O BHRER, smHRIBMSIN LiFE, LAREEDevelopers
Keep them on display or review them during a sprint retrospective to remind the Developers
D) AFKHEIFCAH "ER’  MREEEEMRETEFE, WSEBRKR
Simply mark them as ‘done’ and remove them if the impediment is resolved and no longer
exists

A) IEfs. EHEEIEBlocker TicketEA LIS EIRAIRMAVRARE. AEHREREESHT,
Scrum Master2iXHS=aERBAIE,  (3X#k: A, $B10.75)
Correct. Blocker tickets with common themes can help identify the underlying causes of
issues. It is worthwhile to investigate common themes and the Scrum Master is ideally placed
to do so. (Literature: A, Chapter 10.7)

B) #Hix. REScrum Masters] LUAEFBIRENRE, B2 ZHME. SIFEWELRER, A
FEENEREXRERNERE, miFE—RE.
Incorrect. Although a Scrum Master could investigate the cause of all issues, that would cost
too much time. It may be better to identify common themes and then spend time
investigating the causes of common themes rather than individual cases.

C) $HiR. @IRERBlocker TicketiZEEDeveloperstFEAYRMEIEIR, XFMUESRI—FERAIA,
FEAEIER.
Incorrect. Keeping blocker tickets on display to remind the Developers of bottlenecks or
mistakes can present a negative outlook and is not useful.

D) iR, RAAREREBEIER, BT R RKITNER,; Blocker TicketfED HEHAINME,
Incorrect. Issues may be resolved but understanding issues may be beneficial in the future;
blocker tickets do have value when analyzed.
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HScrumBIARIN Y —NRESE, MIBAAVRS LR, BIBAMEPRIERTZTRER 20 %ATERIE
SHE, ELK—LEESIENARNTRIFFDRIFIR, UFEDFIBX20%9E. HBALY
TE T IESHPERBITIX20%A9RT 8.

FRRRARR T HRXESE, MENERSTERESRAARRIFRIAIEHE.
BP—IURNIZKRERRIRAE 507

A Scrum team has found a critical bug that they feel must be solved right away. The team
always has 20% of the time in the sprint set aside for fixing bugs. They have already pulled
some legacy bugs into this sprint backlog to fill up the 20%. The team has agreed not to
spend more time than 20% on fixing bugs.

The Product Owner has identified the new critical bug as having a higher priority than the
bugs they have currently pulled into the sprint.

What is the best action to take?

A) BRERFTRREBEEIARARISDEIFIRSD, BIERAMES SRR EZERIE 20%
Add solving the new critical bug to the sprint backlog even if they spend more than 20% of
the time on bugs

B) EUEARR, ILEAETTHESHE, MR ERIFEHHYRY
Cancel the sprint, have the team focus on fixing the bugs, and start a new sprint once the
bugs are solved

C) BHAIBPEFINFRAFNEIFIZR, RHRIBRIEDERYIREEETF
Put the new bug into the product backlog because the sprint goal and backlog have already
been finalized

D) KRIFHHIEES TIFEBRMIESHAIKRNE, MEEHE20%
Swap out an equivalent amount of bug-fixing work in favor of fixing the new critical bug to
keep to the 20%

A) iR, BINEYN T FREATIFLSE, XAEScrumiilix.
Incorrect. Adding extra work results in an unsustainable pace. This is not a Scrum practice.

B) iR, REZMRIBSABERENE, ARLEGERR], AFIFRIERFAIFNLE,
Incorrect. A sprint can be cancelled only when the sprint goal does not make sense anymore.
This is not the case here.

0 #Hix. RESMITRIXELE, ERITRISER, XEFBPERIE.
Incorrect. Ignoring a critical bug with high priority until the end of the sprint is unwise.

D) IEf. WMSIANFHHEERINAERSTIFRIEDSEIFIR LA— S NE0E, BT LUSRIFAIESEE
STFEEMAIEEHHE. XML BIRHIMAIR R, (S8 A, 56.75)
Correct. If the new bug is considered a higher priority than one or more bugs on the sprint
backlog, the team can swap out an equivalent amount of bug-fixing work in favor of fixing the

new bug. This approach allows the team to not ignore critical bugs as they emerge.
(Literature: A, Chapter 6.7)
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BIERAAFATNE, RFHE— N REE— T RENEIFIR. N TZEEERNTREDE
IR, DB IRATHHEREET K.

SMEPS = D SIS R R S IRAIAR?

Even in large development projects it can be best to have only one product backlog for one
product. To manage that single product backlog properly, the backlog cannot be too large.

How should the product backlog be kept to a reasonable size?

A) FRUARSILNRIRIER

By forecasting what the next several releases must look like
B) FRiBRRAFEZEAMKERER

By proactively eliminating dependencies between user stories
C) BE St ALEXRSFDETIRAR

By sharing accountability for the product backlog with others
D) "ERIFHAFNE, BINIEEERSH

By using epics and grouping small stories into themes

A) éiéﬁiﬂ%%n/ﬁiﬁ'—iﬁﬁéﬁ’ﬂiﬁ% AR, BRI EE, AERTHYD, TR —E
Incorrect. Planning several releases ahead is not an Agile way of planning. The further away a
release is planned, the less is known and the more variability and inconsistency there will be.

B) $&iR. FAHTAMES, HEVRHIKEXR, KEATERKTEIHR. B, XA EE
RSB IZREIE RIS,

Incorrect. In any large project there is potential for dependencies. They can never be
completely eliminated. This will also not specifically contribute to a manageable product
backlog.

C) $EiR. RMERANUETRADSEIYIR, BIURE— T mARA. S—FHALENERKSR, Litft
MEAREMTmASA, BETR-nEFNENYIFREFHESEME. Bk, ILEMEARTRE
EF-miFNEFIRAET K, BAHRTZAEHE,

Incorrect. Even for large product backlogs, there can be a single Product Owner. Sharing
accountability with a group of people, whether these are other Product Owners or not, does
not help keep the product backlog to a reasonable size. Instead, having others being
accountable will encourage the product backlog to be larger, because there are multiple
people managing it.

D) IFff. WE—LHIFAFNE, BHIEEERESEH, XEILURST - REDEIFIRFERENX
EE, (XEk: A, $21F)

Correct. By writing some epics and grouping small user stories together into themes, the
number of product backlog items can be kept small and manageable. (Literature: A, Chapter
2.1)
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HaElEid Nexus 7753 T KB IS,

NexusEERHEIAASE—RFRIFHMERTEE. S MBI SHEScrum MasterfSBNiBRRIEHS,
EEScrumBIARE— M RARAM— N miFDSRITIE.

XEEENexusHENIERIZRAAR?
A company uses a Nexus approach to scale a large project.

The Nexus integration team coordinates a single sprint for all teams. Each team has their
own Scrum Master to help remove roadblocks.
There is a single Product Owner and a single product backlog for all Scrum teams.

Is this the correct way of using a Nexus approach?

A) B, BAXEEUREESNexus, LUENESNMEAADHMENFE.

Yes, because a Nexus approach can be filled in flexibly by the company to fit the needs of
each specific company or project.

B) &, BFEANexusM\KER—MFmFNSEIFIR. — N "mAskA, UKREHEADREHR.

Yes, because a Nexus always has a single product backlog, a single Product Owner, and a
coordinated sprint for all teams.

0 A2 EASTEINESENFTRASTA, RIS REFDEIFIR, LASIFEARIE.
No, because each team should have their own Product Owner as well as a separate product
backlog to support their work.

D) 72, FEAZEAMINHZERATA. FRFDERGIRFFR], EAEZScrum Master,
No, because the teams should not only share the Product Owner, product backlog, and sprint,
but also share a Scrum Master.

A) R, REFHRNIEANEERDN, {ENexus3iABBHERIE 7 ScrumBIBARLZ AN a1t IR E .
Incorrect. Although the proposed way of working is correct, a Nexus approach prescribes
exactly how the Scrum teams should coordinate their project.

B) IFffi. H— P ABERARARBRZRIT T REDEIFIRFZEHFIN—H. NexusEpER S
ERRIEEREREN. S EEZERScrum Master, REfIIRXE—N=RHAEA. (X
Bk A, 56.138ME125F)

Correct. A single person in the role of the Product Owner will make it easy to be consistent in
ordering the product backlog items. The Nexus integration team coordinates a single sprint
for all teams. Each team has their own Scrum Master, although they share a Product Owner.
(Literature: A, Chapter 6.13 and 12)

0) iEiR., RESIMENMNEEBERIScrum Master, BEEARZE—PAFRATEA. HEFmFHDEI5)
RPN BARARIE T P mfF DB RF B AR EA—EUE,
Incorrect. The teams share a single person in the role of the Product Owner, although each
team has their own Scrum Master. A shared product backlog and a single Product Owner
create consistency in ordering the product backlog items.

D) (&R, BT EIEZERIScrum Master, REfMIIHEZR]. FERGDEIFIRN=REEA,
Incorrect. Each team keeps their own Scrum Master, although they share a sprint, a product
backlog, and a Product Owner.
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AR NEHESKAYEESE. EATRBLUTIE.

-ANERBIN— N IEMERK, ERELHRKE. BT REABH.
-ITERIIMN— P I EREHREAE, MERK. MR EER=E,

BBNERI R B AE S R AR E?
Not every project is suitable for an Agile approach. A company has the following projects.

- A project in the HR department has a tight budget, but no determined deadline. The
requirements of the project are not clear.

- A project in the IT department has a pressing deadline and a tight budget. There is no
room to change the scope of the project.

Which department has a project that is not suitable for an Agile approach?

A) ABNEER], BARBITIMEEEXAELZE.
The HR department, because only IT projects are suitable for an Agile approach.
B) ANEIRER], EAMEIINIREIRERMIEK.
The HR department, because they have no clear requirements for the project.
C) ITER), EARFEREME EER=E,
The IT department, because there is no room for changing the scope of the project.
D) ITERI), EAMIMERK, SELHRZE.
The IT department, because they have a tight budget and pressing deadline.

A) IR, FAEEAILRBEEETIESE. SEEMScrumFAARRTITIE.
Incorrect. Any project can work with an Agile approach. Agile and Scrum are not limited to IT
projects.

B) If-ElEa;o gg%lﬁﬁaﬁ BREAROTEK, MREHRENXEN, NAFEEESIEDE. SN ZEaRNHH
IR
Incorrect. A project without clear requirements, but with a relaxed deadline will do well with
an Agile approach. Any Agile approach embraces changes and emerging requirements.

C) IFfa. XMMERBHINENTE: REMENTE, RERZPRNTE, RENEEENZE.
Y’fiE’JIﬁ ET EEHESE. O A, 5$25)
Correct. There is no room for any changes in this project: no room in the budget, no room in
the deadline, no room to change scope. A project like that will not do well with an Agile
approach. (Literature: A, Chapter 2)

D) #iR. MESKMREZHRZEARERER, EXMHNEMESHELEREZRENZ cENTE.
Incorrect. The tight budget and the pressing deadline are not ideal, but the real reason for the
non-suitability of this project is that there is no room to change the scope.
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H O aBE BRI EA— N ScrumEIBARIERE_EFIE—ANScrumEIBA.,

HARHMERFTIELLARYT?

A company wants to use an additional Scrum team in addition to the Scrum team that is
currently working on a project.

When is this a good idea?

A)

B)

9]

D)

A)

B)

9]

D)

EMBIEESER. BIENScrumBIA A B&FE % 2hI8e et

When a project is very complex, and the current Scrum team does not have all the needed
competences

SIMABScrumBIPAEBESTIAIMER!. FRERESCFITER S ST

When the current Scrum team has a great diversity in gender, race or culture and relevant
backgrounds

SEBARIFFRRE, EEELMEREIM R RE SIS

When the team has just transitioned, and the team members do not work well together in the
beginning

ZizBrtEE)l. BB ScrumBERITFEZ kRIS LT

When there is little time for training and the current Scrum team is made up of many
inexperienced people

Eﬁﬁ% MR- IMEEBARFET BREIZMEBA, #MFeScrumBIASMIRHRATRER L ER).  (OZ#k:
A, 356.158)

Correct. Adding knowledge from outside the Scrum team may be necessary if a project is
large enough to scale it to multiple teams. (Literature: A, Chapter 5.6.1)

iR, STTHETRD, SEEFFAREYT. XHAAEHIEScrumEIARIER.

Incorrect. Agile development is even better if there is enough diversity. This is not a reason to
add another Scrum team.

iR, FBARBENEFEIITESEES. XAAREHIEScrumZBARYERR,

Incorrect. It takes time for team members to learn to work well together. This is not a reason
to add another Scrum team.

IR, FBERAIEIIRBRE, MiZGEScrumBAS, BEERELM RIVEL.
Incorrect. Adding an additional team will not help with training and the Scrum team should be
given the opportunity to work through the initial phase of unfamiliarity.
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HOAEIERAScrum LEIGEM. FrEEBARRZELE—ZBo BT EIER DL, XikScrum Mastest
EScrumBEE,

BB ERTeRkScrumii)ll, fEiIsREEmScrum Masterigla), BIRARRBEIE Iz BigEERE, s
Ej"_}féé;.%‘gt}o FIScrumiERIUFAS. BRRZEAEHERZR, XEREMIIFERTFI
NEIESS.

BpFh TEXIEIARIHEIRA?

A company has difficulties adopting Scrum. All team members work from home at least a
part of the time. This makes implementing Scrum difficult for the Scrum Master.

The team has not finished training in Scrum yet and they often have questions for the
Scrum Master. The team members feel disconnected from each other and often do not pay
attention during meetings. Their will to learn Scrum seems low. The team members do not
often communicate with each other. This also means they do not coordinate their tasks very
well.

Which tool will help the team most?

A) M BElLEBA R RIFERmAIH R E TS

A social interaction platform that allows the team members to communicate continuously
B) 79Scrum MasterMiRAYEESIR, BIRABRRATLATE EEI AR

A special message board for the Scrum Master where the team members post questions
C) —NMRER, BXRRTREAMERIAScrum{B#E>)

An application that gives the team daily tips on how to use Scrum to facilitate learning
D) —MEZEFScrumily, FTEEIRRESREER T ER

An online digital Scrum board that is visible to and used by all team members consistently

A) IEfs, HRENFRBBRAZHM, BAMNERDAR A ELLRILERR, £XRIMFTR, Scrum
Masteral &It TScrumiZillsiizsigia), XN TEBRT BRSO ERK, REAZMEIESH
RfEZE, EHRIBER T, XRPTTEMBERIEESSRELR. (Ot A, 510.28)

Correct. A social interaction platform will address most problems. It is a way for the team to
connect when they are working from home, to communicate well throughout the day, for the
Scrum Master to teach Scrum, or be asked questions. This tool addresses most needs of the
team, although it might be suboptimal for coordinating tasks. This tool will help the team
most right now. (Literature: A, Chapter 10.2)

B) #ix. 2AXNTEOILUEREScrum MasterigaiX—El, Bf—FoUBa LR, Fi, X4
TEBRATHTE R,

Incorrect. Although this tool will solve the problem of the questions to the Scrum Master, that
problem can be solved in another way. This tool will also not address any of the other
problems.

C) iHiR. BAXHITRESEEEIAESIT#Scrum, BHFESRREMEEER, — N
HIHIBA A K BT BEFE— SRR IR L3,
Incorrect. Although this might help the team to learn more about Scrum, it does not solve any
of the other problems. It is also unlikely that an unmotivated and unconnected team will learn
from an application.

D) iR, BAXNTEILRBRNSERIFMEBESX—EE, (BERA 7 EiHTRE,
Incorrect. Although this tool will solve the problem of not coordinating tasks well, the tool
cannot address any of the other problems.
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EHImEREABEScrUumPHAEFE, BE, —&&E5 EHINBREMASEI AN,
XEAEE KIS o EA T ZScrumBe,

BB ERYEN G FEE:
-ffRDevelopersiRiFiHE
-TRR P R T SUEICR

HENIZERIRIX LR R?

The traditional project management role does not exist in Scrum. However, some activities
that are traditionally done by the project manager must still be done. Most of these tasks
are divided over the Scrum roles.

An example of activities that are still necessary includes:
- making sure that the Developers track progress
- making sure that the product has proper documentation

Who should take on these activities?

A) Developers
The Developers
B) MmAsRA
The Product Owner

C) Scrum Master
The Scrum Master

A) $EiR. REDeveloperstiRIRIRAEFNCR ™M, {BScrum Masterf§#EEIXLEEL), Scrum Master
RERHRXLENELTEH, BMETFAHAFRERB M.
Incorrect. Even though the Developers will be the ones tracking the progress and
documenting the product, the Scrum Master will take over these activities. The Scrum Master
is the person making sure these activities are done, even if the work is not done by them.

B) iR, FmARARNHESEXEENRE, REFmASARBEE 7RSS ERIMESEE
.
Incorrect. The Product Owner is not accountable for or involved in these activities, even
though the Product Owner takes over most of the traditional project manager activities.

C) IEF. Scrum MasterfaSRIBIRXLERNGIATCR, BMETIFIFREFEBE M. (X8k: A, 555.6.1
5)
Correct. The Scrum Master should be the person making sure these activities are done, even if
the work is not done by them. (Literature: A, Chapter 5.6.1)
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RRERM, SRIVELEAEZAIRR. EEAScrumIFR2EERRSE.

BEHRTERIE T —FEER, tBERTRABAMBIITL. ASHRATEREESHTHREEE, 7
FET ScrumB,

RNEBAT—RABERN, ERREIMEAHTILE. MIREEBILEEIScrum, FeA—L/NIHE
MEEANScrumBIAEF. BFHFITERER)IRNBIE, EARTIIMERRES. KEZIIE
BH—ERBAIRSEBBERREA,

HEE, NENWGFHRIAZIRAScrumfiITth. HXGEEIEELRM,
PR— IR AL KA R T BE R

A company has discovered that the current process is not delivering acceptable results.
Transitioning to Scrum seems like the best solution.

The CEO has created a sense of urgency and is also speaking to stakeholders about his
plans. Most employees are excited to learn more about Agile and have started researching
Scrum by themselves.

The company has a large meeting and collectively decides how to do the transition. They
decide on a slow transition to Scrum, starting out with some small projects and a single
Scrum team. The CEO decides to make training optional because the employees are so
actively researching. For the most important project, an experienced project manager will
act as the Product Owner.

After half a year, the results of the company have not been what was expected with Scrum.
The transition is called a failure.

What is the most likely reason that the transition did not work?

A) RNENIZGFEEERER, LEERER.

The company should have opted for an all-in transition to go with the sense of urgency.
B) RIMIKEZFHRSHIScrumizZill, IHER T {EIRFI#HT,

The employees did not receive enough training in Scrum to make the transition work.
C) MBZKEMFmiTHRARLIEE~RRAEA.

The project manager did not know enough about the product to act as Product Owner.

A) BiR. RIEFLBEXRE/N, ATLEFEEREE. XAKNA R SEGEEIRMAIRRA.

Incorrect. A slow transition is usually less risky and will allow business as usual to continue. It
is unlikely this is the cause of the failure of the transition.

B) IFf. RTIREEZSTE, —HHIScrumizll, XeJReRBEANIMFINERE. Ok A, $F2.18)
Correct. The employees did not receive full and cohesive training in Scrum. This is likely to be
the reason for the transition not working. (Literature: A, Chapter 2.1)

0) iR, AIRFBE~mARANTm T HAR. BEEURERXYScrum THEAE.

Incorrect. There is nothing to suggest the Product Owner did not know enough about the
product. It is more likely there was not enough knowledge about Scrum.
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HHEABAIEEEEFIScrum, AlexanderEF AR —, M FEENAREZNRScrum, FIRAFFR
XIScrumsLiy, EELLSWNSFTERERE. Alexander2— MEIAE.

Addy2EBARIScrum Master, fbFmZ2AlexanderlEF, XHFEIAABERLTI.
E—IERYTAlexander{T HEIRIES = ?

A team is transitioning to Scrum. One of the team members, Alexander, really seems to
dislike Scrum. He is actively speaking out against Scrum practices and is turning the mood
of any meeting sour. Alexander is a saboteur.

Addy is the Scrum Master of the team and wants Alexander to stop, so that the team can
succeed.

What is the best way to respond to Alexander’ s behavior?

A) EiAAlexanderf91EIT, EAXFROIE, 1EERSRRAITIFS AR
Acknowledge Alexander’ s fears and confront them, and make him dissatisfied with the
original way of working

B) FiLAlexanderff2iN LAE, BHRFZEIZ—MEBN, MMRAIF, FiEfFED
Do not let Alexander talk in meetings, move him to another team, or if that all fails, consider
firing him

C) f#fRAlexanderTf#EScrum, (Gftt—EIEMNRIE, F{ERIMEEEENE
Make sure Alexander understands Scrum, give him some time to adjust, and appoint a
champion skeptic

D) ZBISFRHEAER{THEESE, iLAlexander25HEIBAIESN, N EBLEFERD
Model the desired behaviors, involve Alexander in team activities, and praise him for doing
the right thing

A) iR, XEFRMES FRNAREF T,
Incorrect. This is the best way to overcome resistance by a diehard.
B) IFf. XER=REABEEINGTFSIE (O A, $H13.55)
Correct. This is the best way to overcome resistance by a saboteur. (Literature: A, Chapter 13.5)
0) EiR. XERRRINECEBNAIRTTTIE.
Incorrect. This is the best way to overcome resistance by a skeptic.
D) iR, XE=RIRMEERIARIFTIE,

Incorrect. This is the best way to overcome resistance by a follower.
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ScrumEFAREEEE, XEREMIITLABRIEETIFSAREE, B/, BEABITHRE
&, MEMNEEREIEATNR,

ScrumEBAIMYEERARIANFZTIER, BSELHIRILLE,
B—IEEEARAEScrumpIfER?

Scrum teams are self-managing. This means that they have freedom to choose a way of
working, and what they commit to. Teams also solve their own problems and should have
all expertises covered.

It would almost seem like there is no role left for management outside the Scrum team, but
this is not true.

What is the role of management in Scrum?

A) HRFRGEEAFScrum MasterflE T IEMAYTHRIFHE T RARHAR
To make sure that the Product Owners and Scrum Masters have a detailed planning and keep
to deadlines

B) HARSHEIPAMEE TSR, FHiREHE
To make sure that the teams compete with each other over incentives and keep increasing
their efficiency

C) HBRERBIFEH, ARRFEIEBHELSScrum
To make sure the organizational goals are clear and the mindset of the company is Agile to
support Scrum

A) HR, SccumBFEIAZEEEE, XEWREmRRASScrumBFIRARIE LR —e S SR I FAAYT
MRZLHR. EEARRNILHIT T,
Incorrect. Scrum teams are self-managing. This means that the Product Owner is responsible,
together with the rest of the Scrum team, for the detailed planning and the deadlines.
Management should not interfere with this.

B) iR, ILEARSFHRIEESN, FHHES IR, XARERITIES. EBARRFROZIXFY,
RXELEScrumfERHRL,
Incorrect. Making teams compete and putting them under pressure to keep getting more
efficient is not an Agile way of working. Management should not do this, because it will make
Scrum fail in the organization.

C) IEfa. MREWARRMHBHANBRBRR, ARIFASIEEERYE, ScrumBIABEARIFRATIFER,
BERARISBIME. (XEk: A, 585.65)
Correct. If management provides clear organizational goals and keeps the company mindset
Agile, the Scrum teams can be most productive and deliver most business value. (Literature: A,
Chapter 5.6)
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SEAREEIBA LU R FIA BB T BT ESSRIRE,
AT AfEETEE?

Cross-functional teams are better at estimating the size of new tasks than other teams.
Why do they make better estimates?

A) TEHRIBTIADFELBEIRA
Because the team can do with less planning than other teams

B) AFELELIFBRLEEBHEA

Because the team does not have to hand off work to other teams
C) FBEEIESHEER

Because the team has a person that specializes in task estimations

D) HBAE&E ek LIERTFRRIFTERE

Because the team has all competencies needed to accomplish the work

A) BiR. FTICRAREIREE, IHIEEER—F.
Incorrect. The level of planning will be the same, regardless of cross-functionality.

B) &R, XEREREEAMN—MIR, EFARMIIEETHENERR.
Incorrect. This is a benefit of having a cross-functional team, but it is not the reason that they
make better estimates.

O iR, ENTCHETHEER, EEREEMNRFRELEER
Incorrect. Group discussion contributes to good estimates, but there is no person specializing
in discussion on the team.

D) IFff. FEERRERIABZSThA LIFRrRAIPaRE], TRIKBYIMERIR. BTELSE— I HIRRES
SERESHORIIRINSGEE, BB ARBME. (O A, H7E)
Correct. Cross-functional teams have all competencies needed to accomplish the work
without depending on external resources. Since there is always at least one team member
with the knowledge and skills to complete the task, there is always someone able to estimate
it. (Literature: A, Chapter 7)
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RATEEMMEF U ABIEER, EF— 1 EEITFSRTIR. RTIRNEEEMER, SHH
LETISRAIRANEIFOAHE 4.

R —IR4E AT AR AR TIRAIBRE TS TU?

A company is transitioning from a traditional culture to an Agile culture. On one of the
teams, there are many conservers. The conservers resist change because of fear of the
unknown and the uncertainty it brings.

What is the best way to make use of conservers during the transition?

A) RFIRKENRAB. FIRMIIAOREE=EFOWSHN, FHRSENME.

Conservers are focused on the bigger picture. Use their skills to generate new ways of doing
business, and streamline efficiencies and effectiveness.

B) RIRKITBELEMSE. FIBMAIAREE, (FARERAFEERZ A EZRIHR R,
Conservers can see both advantages and disadvantages. Use their skills to operate as the
mediator to identify acceptable common ground between teams.

C) RFIRSBENAMATE, FIBMONIAIRBERMLIEELER, AT SAIBR TR ATIEE,
Conservers will do well with an evolutionary change. Use their skills in planning incremental
steps to transition the company without disrupting business.

A) EIR, XEFAREENSN. RREMEEE, FUETSHIIWSHRAMTHRER,
Incorrect. This is the way originaters should be made use of. Originators welcome change,
which makes them very useful in finding new ways of doing business and optimizing

efficiency.
B) fHiR. XEFALAENENS. MMISIETRINBEEE. BAMNATTHE, BIEE=

. MERTLARNAI SIRTIRFIAREE k.

Incorrect. This is the way pragmatists should be made use of. They can see both the
disadvantages and the advantages. Although they are not that eager to change, they are
willing to try. They can negotiate well between the conservers and the originators.

C) . RTFIREIERANEY. ILRTFIKEHIEE, MIMNLTEE. WNFASCRLEATIREEE
Y, MERBSHRRESIIASIELTE. (O A, 513.25)
Correct. Conservers fear the unknown. Giving them control over the increments will work well
both for the conservers and for the company. They will not rush into a change the company
cannot handle and will help make sure the transition does not disrupt the work. (Literature: A,
Chapter 13.2)
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EARERS SRR AAESF LY. ATSHERETR, EPEERATEE
TIBHFFIOER, AHORNRILATDSEBGE,

NEIREIMEIEScrumisy, HEBEMENBES S ARSINScrumiEi)ll, #IEN—ERA
Scrum,

EEEX BRSNS SAL SRR, RAXERITRATE,
LR B RIFAIEETST0?

The board of a company has appointed consultants to identify the organization's loss of
competitive advantage. The company creates highly complex products and the customers
often have new requirements after product demonstrations. The recommendation is to
become more Agile.

The company decides to switch to Scrum immediately and instructs everyone involved with
projects to attend a Scrum training. New projects should all be using Scrum.

Management does not want to adjust any of the current leadership styles or structures,
because that would make them lose time.

Is this a good way to transition?

A) B, EAFRTEREFEAR, HHNLRMRET, TR THRIBRITES .
Yes, because a new method will inspire everyone, and big-bang implementations work best to
break with the old ways of working cleanly.

B) 2, BEAScrumB—TERZFAIIESE, £RBE)IALBBRXASARESR.
Yes, because Scrum is a simple and easy to learn Agile methodology and retraining everyone
ensures this approach will work soon.

O A2, ENSEEZSHNE—TEYE, MAR—Mstly, WREEEEERETScrumBiFTHESR, &
FEISIRIGER AT,
No, because Agile is more a mindset than a practice and will succeed best if management
changes the culture before transitioning to Scrum.

D) A2, AANEEENIZHEScrumEZRRFKEGATNSUESE, AXRETIASERILE.
No, because management should evaluate if Scrum is the best Agile methodology for the
company and look at the practices of industry leaders.

BEART , #BT—1
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R, THETEE—MANER, BUBMANFEERTN, M EESRINE FERERRAT,
NHEEEEAGENT TIEARIER,

Incorrect. Becoming Agile is an organizational transformation that would have a significant
impact on the whole organization. Big-bang approaches do not usually work well in complex
environments, especially not if management does not wish to change their ways.
%50im@%@%ﬁx&m?&ﬁﬁﬁﬁﬁo%ﬁ%ﬁﬁ?imﬁﬁﬂﬁﬂﬁmim&mm%%%Y
Rz,

Incorrect. Achieving organizational agility goes far beyond the selection of an Agile method.
Management underestimates the cultural shift required to achieve organizational agility and
successfully implement Scrum.

IFff, BASHIRTFSEMM, EEEEEIEE LM T, EEENSTTHE CELERI(LEER
FHER, XM ALRRIEREIE, MRMENAEEEEE, BRI, (XEk: A, 5$1.35)
Correct. Although there will be many other challenges, agility starts from the top.
Management should first understand their role in the necessary cultural transformation that
will impact the organization's entire operation. If they are unwilling to change, the transition
will not be a success. (Literature: A, Chapter 1.3)

HiR, ScCumASHAZAGIFRIEEAE. RRETEREAMENETIFEI, FRYRERHEE,
Incorrect. Scrum itself is not the problem here. The problem lies with management not
wanting to change their ways and forcing a big-bang transition at the same time.

Bxn 1 ##£% EXIN Agile Scrum Master (ASM.CH) 78

Agile Scrum



A

MTRBAREFBERER, HEEERA.

A% =f 3 [0 F 3
1 D 21 D
2 C 22 C
3 A 23 C
4 A 24 A
5 B 25 A
6 D 26 A
7 B 27 A
8 D 28 D
9 C 29 D
10 C 30 B
11 B 31 C
12 A 32 A
13 B 33 A
14 D 34 C
15 A 35 B
16 D 36 B
17 D 37 C
18 A 38 D
19 B 39 C
20 D 40 C
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